DIRECTIONAL CONTROLS

soLTecH

PAGE 4



JL DIRECTIONAL CONTROLS

j |- SOLENOID OPERATED DIRECTIONAL CONTROL VALVES
SOLTECH

[GRAPHICAL SYMBOLS)

A B
" " SWITCHED ?’7
(Example)ln Case Of Spool Type "3C2 POSITION E E @ E
Neutral Position
SOL. a Energized Position SOL. b Energized Position ~ TYPE ” ”
SYMBOL II‘
T @m@
- am
ORDER
CODE 3c2
1) Example: Three switched positions, spring centred(3C) with spool type "2", ordering code "3C2".
2) Example: Two switched positons, no spring, with detent(2D) and spool type "2" , ordering code "2D2".
3) Example: Two switched positions, spring offset(2B) with spool type "2" (reverse assembled), ordering code "2B2(L)".
4) The dotted line of graphical symbol(2B, 2D, 2N) represent the momentary switched position.
Three Switched Graphical Two Switched Graphical Two Switched Graphical Two Switched Graphical
Position Symbol Position Symbol Position Symbol Position Symbol
Spring Centred AB No Spring AB Spring Offset _As No Spring-With Detent AB
a b a [ Eb a% L a (- Eb
Model No: i; Model No: Pt Model No: - ;; Model No: L33
"3C"+ Spool Type "2N"+ Spool Type "2B"+ Spool Type "2D"+ Spool Type
Spool | Graphical Physical Relationship Spool Spool Remark
Type Symbol (Neutral Position) SWG-02 SWG-03
Ny, > Holds pump pressure and cylinder position at
non [X}Eﬂ \"‘\ - N neutral. Care should be paid if used as a 2-position
= -\ \\\‘ \\ type because shock occurs when each port is
i alplBlr R S |blocked in transit.
™.
% \ \\\ A, Pump can be unloaded and actuator is floating
"3" [X]E]H NG R U AL at neutral. If a 2-position type is used, shock is
i alprlslm @Gl G reduced as each port is releases to tank in transit.
D > Pump pressure is held and actuator is floated
nqn [X]E]H ‘\ Som N at neutral. 2-position type is used when system
\\~“ \\\ \\ pressure is required to be held in transit. Shock
»e. N during transit is less compared to spool type "2".
. ™.
7, ~ 7 ) In a variation of spool type "4", a restrictor is
N W s
N ¢ rovided in A-T and B-T ports. Making it faster at
wor | 2 Nl it
“\).\} \)\\\ stopping the actuator.
S N7
..5.. [X]EH N “‘\7_ N W 'T\_‘ It can be use(_i when a pump is unloading at neutral
WA WA and actuator is halted at one way flow.
TialpPlBlT e B
'\:\: E‘\-\ \\J-) '_\»._ Pump is unloading and actuator postion held at
"60" MHEH% "\;\4 SN ‘\;; iy, neutral. Suitable for series operation. Shock is
T Al Pl B IHI ‘\;‘\\\\ \;‘\\\ reduced as each port is released to tank on transit.
S>>, >
D77 NIIII \; > \\> N Mainly used as a 2-position type. Shock is reduced
/% N {\ A on transit.
RN WG
Ny > . e
Y < Pump pressure and cylinder position is held at
LN
"8" N ™ N W neutral in the same way as spool type "2". It is used
T Q& & 2 way t
T alplBIT S SNy [Bs2way type.
> X
85" | 7T > | >
Tl Al plBlT S e
\\ \\\ -~
"8 N .
"g" [X]:EJH O \\‘ U “*\ Regenerative circuit is provided at neutral.
Tl Al Pl D Rt
Ne, & \\\ >~
"10" [X]EE \\ Nom D Prevent actuator from one direction drift by leakage
\\~“ \\\ S of P port at neutral.
Tl alplsl e PN
Nz & D>
nqqn [X]Eﬂ \\~\ . \\\ o Half actuator movement positively at B. T ports
YA \\ S blocked P.A port connected at neutral.
Al piBlr s S
> N
D420 [X]EH L " S N S Prevent actuator from one direction drift by leakage
WA \‘\\ = of P port at neutral.
ThalplBlT " Y

PAGES



JL DIRECTIONAL CONTROLS

l | SOLENOID OPERATED DIRECTIONAL CONTROL VALVES
soLTecCH
[GRAPHICAL SYMBOLS)
Model No. Explanation Standard Mtg. of Solenoid
ﬂ%gﬁﬂﬂ H——x MODEL CODE "2B2"
— — AB
A/ T T \/\ SOI, a SOLTECH
a ’7><: T N b %} APE B aEX}PITﬂM
‘ T Reverse Mtg. of Solenoid
ap— T—o b a—ro b p— — AB
Ry va il g o |5 S0,
APB
2B2B 2B2A PT

1) Example: Two switched positions, spring offset(2B) with spool type "2B" , ordering code "2B2B".
2) Example: Two switched positions, spring offset(2B) with spool type "2A" , reverse assembled, ordering code "2B2AL".
3) Valves Only Using Neutral Position and Side Positions.

Graphical Symbol Graphical Symbol
Two Switched Reverse Assembled Two Switched Reverse Assembled
Position Standard Position Standard
. Assembled Model No: 3D . Assembled Model No: 3D
Spring Offset Spool Type + "L" Pictures Spring Offset Spool Type + "L" Pictures
Mogel No: AB AB Mogel No: AB AB
"2B"+ Spool Type | 5 o t b "2B"+ Spool Type o o b
AL LI H L LTS
Spool . 3D Pictures Spool . 3D Pictures
Type Graphical Symbols SWG-02 | SWG-03| Type Graphical Symbols SWG-02 | SWG-03
2A It DL | | | 28 DX |
. S~
a | Hi | KH |2l = | ®E | Hi
. >
4A Hir DIH | o | | 4B Sl
o OF \\\\\ \;zi\\ o ook
soa | Htl | e | Qo [ Ray | ws | | Eib
&/ 7'\A\ f‘\:\\ . .
s | 0 | KB |Qp| Q| ® | XB | B
7™ "\_\\
— 7 ] Sa | | 608 il As The Same As
— > - Spool Type
N A AN na o
7A S| | B AT 2"~"12".
> >
8A It ARSI N N |
o | FIT | paby | S| e | x| B
— T~
oa | T | 6D | R Qx| 18 | D | [
1A It | || 1B | KT It
28 | NI | KN || | 128 | XN | (NI

PAGE6



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[MODEL DESIGNATION]

SWG| - [H)] - [@aP) | - [o2] - [2B] 2 [@w)| - |A220] - [(S)| - |(N)| - [(90)
I i i} v V | VI | VI VI IX X X1
#¢ The item with "()" can be omitted.
I') Series No. VI) Spool Type
(Referring to Graphical Symbols, Page 6)
IT') Omit: 31.5 MPa
315 kg/cm?(Bar) VII) Assembled Direction
4570 psi Ejij“
3 Omit: Standard Assembled .
H: 35 MPa L: Reverse Assembled b
350 kg/cm?(Bar) N@E
5070 psi VIl) Voltage
S: Shockless Type(DC voltage only) A110: AC 1M0V/50(60)HZ &
A220: AC 220V/50(60)HZ
IT) Valve Body Antirust Treatment(Color) A24: AC 24V/50HZ

A240: AC 240V/50HZ
Omit : Phosphate Surface Treatment(Black) A380: AC 380V/50HZ

AP : Antirust Painting(Blue) D12: DC 12V
D24: DC 24V
NS : Nickel Surface Plating(Silver) D48: DC 48V
D96: DC 96V
IV) Valve Size R1: RF 110V/50(60)HZ
(Rectified)
02: 1/4" R2: RF 220V/50(60)HZ
1ISO4401-03-02-0-94 o 5 © (Rectified)
NFPA-DO3 0 0
CETOP 3 o © o IX) Coil Type
DIN 24340 NG6
Omit: Encapsulated by Epoxy
03: 3/8" S: Silver Shell(DC or Rectifiled Voltage only)
ISO 4401-AC-05-4-A ° o © (Bosch Rexroth Type)
NFPA-DO5(FORMERLY D02) OO0
CETOP 5 SRS X) Connector Type

DIN 24340 NG10
Omit: Terminal Box

V) 2B: Two Switched Position With

Intermediate Or Momentary N : Plug-In Connector (With LED)
Switched Position DIN 43650
_ aB ISO 4400
2B: Spring Offset aﬂj;]«
AB N1 : Plug-In Connector (Without LED)

2D: With Detent ST

) 5 A*; LS: Le%d Wire

N: No Spring a i b WP Connector
E;E DT04-2P Connector

3C: Three Switched Position
X T ) Mounting Bolts Standard

AB
3C: Spring Centred @ E
Pring b Omit: DIN 912 Bolts
90: UNC Bolts(North America Design Std.)

PAGE7



JL DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES [72MPa]

soLTecH

**SPECIFICATION

ALLOWABLE | RATED
MODEL MAX. OPER. PRES. BACK PRES. | FLOW WEIGHT
Kgflcm?/(MPa) } (Kg)
Kgflcm?/(MPa) (€/min)
SWG-VH 720(72) 140(14) 12 2.4
*GRAPHIC SYMBOL
3C2 3C3 3C4 3C6 3C60

Refer to Page 5&6. For more spool type, please contact SOLTECH
*Note : 3C6 is only available for HPO3 Pattern
**Note : 3C60 is achieved by "SWG-VH-3C3" + "MPC-VH-W"

**MODEL NUMBER DESIGNATION

SWG- | VH- (PA)- 3C2- D2- (N)- (HP03)- (90)
ACTUATION TYPES: VOLTAGE
OMIT: SPOOL TYPE: R1:
SOLENOID OPERATION | REFER TOPAGE | AC 110V/50HZ CONNECTOR TYPE mgg&‘g&% DESO'EA'I"T_NO'
HIGH PA: 586 AC 110V/60HZ | OMIT: TERMINAL BOX | o\ GETOP | DIN 912 BOLTS
SERIES e PNEUMATIC ACTUATION R2: N: PLUG-IN 03' NG6 90:
NO. |75 1ipa 2B*/3C*: AC 240V/50HZ CONNECTOR v o
SPRING RETURN | AC 220V/50HZ DIN 43650 Sy (NORTH AMERICA
ML: MANUAL LEVER 2D*/3D*: AC 220V/60HZ ISO 4400 HPO3 PATTERN| STANDARD)
WITH DETENT D1: DC 12V
REFER TO PAGE 39| D2:DC 24V
< ASSEMBLY

SWG-VH-02

Terminal Box

SWG-VH-02-N

DIN Connector

® D
@ /V%@
Item No. Part Name Quantity(PCs) ©//
1 |Lock Nut 1~2 o -
2 |coil 1~2 ®
3 Tube =22
4 Push Pin 1~2
5 |0 Ring-AS113 1~2
7 Retainer 1~2
8 Valve Body 1
9 Spool 1
10 Spring 1~2
12 |ORing POX4 @ -
13__|Pin 1 22,27 [Nameplate i - Mounting Pattern o
14~20 |Terminal Box Set 1 23,28 |Bolts 4 @ CETOP 03, NG6, ISO 4401
21 Plastic Cover 1 24~26 |DIN Connector Set 1~2 405(1 59l
égfg) 30.2(1.19)
©0.16 (4,1); 0.16 (4,1) DEEP MINIMUM (1&)5%) =~ 21.5(0.85)
LOCATING PIN HOLE 430 019 ool 12.7
o (33,0) 4.8) Yol (0.50)
Mounting Pattern S
e\ ™ e\ —| N
HPO3 NN NP DN R
H N\ — w0 o
B A (;izgg) N1 ate
1.75 , ENR=1=
el e >y a1 =EEEd
32 i / Jan i (3’99)(3.56585) : '\: c‘v:; g1 S A foP ®
sy &/ | N 7 I ® 0
] 0.000414.0 U7 /' ' N
(0,010/102 Y !
©0.234 (5,94) 3 PORTS <0475\ g5
0844 (12,07) (6,4) 4X®6.3(0.25)
(21,44) 1913 0.250-20 U.N.C.—2B THREADED 4xM6 Bolts, P1.0
Tt T B T
’ UNIT: M.M.(INCHES)

PAGE8



U
ar

DIRECTIONAL CONTROLS

SOLENOID OPERATED DIRECTIONAL CONTROL VALVES [72MPa]

soLTeECH
*<DIMENSIONS
SWG-VH-02
224(8.81) 49(1.93) 161(6.34)
N
Y
| [ [ 1% [
i)
SOLTECH O 83 S SOLTECH
HYDRAULICS CO., LTD. @ 2 N (o2} HYDRAULICS CO., LTD,
8 3"~
APB sl g APB
N
67.0(2.64) 78.5(3.09) 153.5(6.04)
| swG-vH-02-N |
DIN Connector Type
224(8.81) 49(1.93) ) 127.5(5.02)
[ IO Ireany JC
Al EIME S E] 3
- - 9 g = -
— 4 (a2
SsoLTeECH 5 @ K soLTECH [
HYDRAULIC CO., LTD @@9 - ',: o) HYDRAULIC CO., LTD. [
APB = APB) P
N
67.0(2.64) 78.5(3.09) 145.5(5.73)
SWG-VH-PA-02
_
02
~ 2%G1/8" <
— ﬁ —
N QO =)=
3] o|®22
8 Sl 133
<
A P §|
; | R29.5 4x@4.6(0.18) Thru.
I 190.0(7.48) I (1.16)  4x@9.0(0.35) Spotface
SWG-VH-ML-02

| Manual Lever |

UNIT: M.M.(INCHES)

67.0(2.67) 38(1.50)

@10.
0.41
«§]: | :
Cey

AR —~

H. ~

ik >

i gl i 3
: | : S | :
N g| il
%_ il o
L e

34.1(1.34) _| L3029

49(1.93)

I

©

PAGE9




—I l— DIRECTIONAL CONTROLS
_l |_ DIRECTIONAL POPPET VALVE [700 Bar)

soLTecH

[sWVH-61]

#*GRAPHIC SYMBOL
E4 BE4 E2 BE2
T T A A
I3 I3 3 I3
A | AR LA
a P a P a P a P
*¢TECHNICAL DATA
Max. operating . . .
Hydraulic fluid Porting pressure connection el FIO}N e ST . Weight
(L/min.) (recommendation) (Kg)
P,AB, T
Mineral oil according to | NG 6 according to DIN according to NAS 1638, 16/
DIN 51524 24340/1S0 4401/ 700 bar 25 class 6 resp. ISO/DIN 1 2.(Air)
(other fluids on request) CETOPRP 121 H 4406 class 17/15/12 '
**MODEL NUMBER DESIGNATION
SWVH- 6l- (Air)- 2/ 28 E2- (24)- V- (90)
Solenoid Design No.
. - Switching 12: DC12V Omit:
SERIES NO Nmrrsa('js'ze e N“S’:fsr of Mumber of | Functions 24: DC24V Seal Material DIN 912 Bolts
: c ) ’ o 2 see Graphic 110: 110VAC V: FKM 90:
onnection Symbol 220:220VAC UNC Bolts
Air: Air (North Amercian Design)
%% The item with "()" could be omitted.
*PERFORMANCE CURVE
PRESSURE DROP HYDRUALIC SWITCHING CAPACITY
35.0 800
200 700 Hydraulic switching capacity at

nominal operating voltage and
25.0 600 at operating temperature.
Switch on current | oy 2 0.7 x |

o
S
=3

20.0

P [Bar]

Pressure [Bar]
»
S
3

©
S
S

10.0

N
=3
=3

5.0

=)
=3

_—~

0 5.0 10.0 15.0 20.0 25.0 0 5.0 10.0 15.0 20.0 25.0 30.0
Q [L/min] Flow Rate [L/min]

=)
o

a (switched) |0 (initial position) >:< DIMENSIONS

Valve Type |Control Function| P-A P-T P-A P-T
2/2 E4 2
2/2 BE4 2

2/2 E2 1
2/2 BE2 2

Drill Pattern © &
N
CETOP 03, NG6, ISO 4401 g N
60 min.
N b
o o
g & 3 &
@ METE T ‘
d H 1 I 1
3l o ¢ 3 8 & 134.2 492
‘
(9.5) 5
r0.75+0.1 =
0 T {lo
5.1%0.2
£ ~ Rz 4 o -
VA <
g 2x15.5+0.2 {}B ooz 5 8
] A O
25.9£0.2 @
31.0£0.1 @ P 31.7540.1
T I 1
4x@6.5max. 4xM5 T 10.0 34.5 56.0 | 49.2

90.5

UNIT: M.M.(INCHES)

PAGE 10



L

soLTecH

*¢SPECIFICATION

DIRECTIONAL CONTROLS

ALLOWABLE | RATED
MODEL MAX. OPER. PRES. BACK PRES. | FLOW WEIGHT
Kgflcm?/(MPa) g (Kg)
Kgflcm?/(MPa) (&/min)
SWGS-02 250(25) 160(16) 63 2.2
SWGS-03 250(25) 160(16) 120 4.8
**GRAPHIC SYMBOL
2B2 2B3
T T
RN HIRN
*<MODEL NUMBER DESIGNATION
SWGS- 02- 2B2- D2- (90)
VOLTAGE
VALVE SIZE R1:
02: AC 110V/50HZ | DESIGN NO.
NGOG, SPoOL TypE| AC M10VI60HZ OMIT:
R2: DIN 912 BOLTS
EINISSINOE CETO'_D e AC 240V/50HZ 90:
03: AC 220V/50HZ | UNC BOLTS
NG10, AC 220V/60HZ | (NORTH AMERICA)
CETOP 05 D1: DC 12V
D2: DC 24V

*<SPECIFICATION-PROXIMITY SWITCH

SOLENOID OPERATED DIRECTIONAL CONTROL VALVES [WITH PROXIMITY SWITCH]

*“WIRING DIAGRAM

DESCRIPTION PS-24VDC
Power supply 24V + 20% DC
Protection IP 65, DIN 40 050
Repeatability <0.03%
Temperature -25~70°C
Max. Loading Current 400mA

*<DIMENSIONS

1

A

+24V

o 0

oV

Nl=]d |»

=]

NO
NC

A Caution: Pin 4 Grounding Prohibited

SWGS-02

1SO 4401-AC-05-4-A

= = 3|
3
S/ BN B
—~
] SOLTECH o0 " NEEE
! 2 VB
AEE o=—0;
N
78.5(3.09) 66(2.60) 110(4.33) 49(1.93)
254.5(10.02)
= g
)

110(4.33)

TBPAT

95(3.74)

100.5(3.96)

66(2.6)

115(4.53)

305.5(12.03)

UNIT: M.M.(INCHES)

PAGE 11



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[SWG-02)
"1S0O4401-03-02-0-94 ~ NFPA-DO3 ~ CETOP 3 ~ DIN 24340 NGo6"

SWG-NS-D24S

| sSwG-AP-D24s

B WITHIN CE MARKING REQUIREMENT

The apparatus meets the requirements of the following standards and hence fulfills the
requirements of EMC Directive 89/336/EEC as amended by Directives 92/31/EEC and 93/68/EEC
within CE marking requirement.

EN61000-6-3 : 2001+A11 : 2004 : CISPR 22 : 1997+A1:2000+A2 : 2002 Class B,
IEC61000-3-2 : 2000, modified

EN61000-3-3 :1994+A1:2001

EN61000-6-1 : 2001 : IEC61000-4-2 :1995+A1:1998+A2: 2000

IEC61000-4-3 : 2002, IEC61000-4-4 :2004

IEC61000-4-5 : 1995+A1:2000 IEC61000-4-6 :1996+A1:2000

IEC61000-4-8 : 1993+A1:2000 IEC61000-4-11:1994+A1:2000.

B STABLE OPERATION

With a strong magnet and spring force, the valves are tough against contamination and thus ensure
a stable operation. Under standard operation, the durability to 10 million spool shifts.(Average)

B HIGH QUALITY & COMPETITIVE PRICE

All products are 100% tested by professional testing machinery. The material of tube is imported
from Japan, and all parts are processed by professional specific automatic machinery. But the price
is less 30% than leading brands.

B EASY MAINTENANCE

Plug-in solenoid, all spools and bodies are interchangeable, the head of tube is design to hexnut to
simplifying maintenance and reduce damage when assembl.

B HIGH PERFORMANCE[1SWGH SERIES

High pressure(up to 35MPa), high flow rating, provides low pressure drop, with maximum
performance. If need more details please consult our distributors.

B CUSTOMIZATION

According to the requirement of customer to customize the product, and 100% satisfy their need.

PAGE 12



U
ar

soLTecH

DIRECTIONAL CONTROLS
SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

**MOUNTING BOLTS

Descriptions
Taiwan Design Standard
European Design Standard
N.America Design Standard

Soc.Hd.Cap Screw(4 pcs.) Tightening Torque

02 : M5 x 45 Lg 02

No.10 - 24 UNC x 1 - 3/4 Lg.
% Four socket head cap screws in the table below are included

0.5 - 0.7Kgf
m(43 - 60 in. Ibs)

**SPECIFICATION :

Max. Max. T-Line | Max.Frequence . . Ambient .
Pressure Rated Flow | g2 pressure| of Operation | Fitration | qemperature Weight
(kgflcm?) (min.) kgf/cm? (cycle/min.) (el Rrange(C) (kgs)
3C~2D -~ 2N
315 160 . .
(31.5 Mpa) ©5 (16 MPa) 240 25 5~60 |[(C2 DCi23
(4570 psi) (17.1gpm) (2320 psi) Ro5275 2B
AC:1.7 DC:1.8
% Spool type "5", "6", "60" Max. Pressure : 250 kgf/cm?(25MPa, 3630psi)
**SOLENOID RATING *
5 Voltage Frequence Currept At Rated Voltage
ower V) (HZ) In-Rush Holding Power
( Current(A) Current(A) (W)
50 1.6 0.46
A110 1.4 0.32
e 1.5 0.39
50 1.3 0.38
AC A120 60 1.2 0.27
50 0.80 0.23
A220 60 0.70 0.16
0.75 0.19
50 0.67 0.19
— 60 0.59 0.13
D12 2.2
bC D24 11 26
% Solenoid Isulation Class: Class H
Spool Type | P—A | BT | P=B | AT | P—T
*PERFORMANCE CURVES : 3C2 5 5 5 5 -
3C3 6 6 6 6 4
Test fluid viscosity:35 cst(175ssu) 3C4 5 6 5 6 =
Test temperature: 50°C (122°F) 3C40 5 5 5 5 -
3C5 1 1 1 1 4
250 o @ 3C6 1 1 1 1 4
al 3C60 1 1 1 1 4
o™ @|_3¢c7 6 5 6 5 -
% 150 3C8 5 5 5 6 -
E G 3co 6 5 6 5 -
S 100 — ©[ 3c10 5 6 5 5 -
7 A —_—— 3C11 6 5 5 5 -
50 3C12 5 5 5 6 -
| 2D2 5 2 5 2 -
0.0
0 10 20 30 40 50 60 63 70 2D3 6 3 S 3 -
Flow (Umin) 2B2 2 2 (5 5 -
o 2B3 3 3 5 5 -

PAGE 13



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[SWG-03)
"ISO4401-AC-05-4-A ~ NFPA-DO5 ~ CETOP 5 ~ DIN 24340 NG10"

| swG-AP-D24s

[swe-Ns-D2as|

B WITHIN CE MARKING REQUIREMENT

The apparatus meets the requirements of the following standards and hence fulfills the
requirements of EMC Directive 89/336/EEC as amended by Directives 92/31/EEC and 93/68/EEC
within CE marking requirement.

EN61000-6-3 : 2001+A11 : 2004 : CISPR 22 : 1997+A1:2000+A2 : 2002 Class B,
IEC61000-3-2 : 2000, modified

EN61000-3-3 :1994+A1:2001

EN61000-6-1 : 2001 : IEC61000-4-2 :1995+A1:1998+A2: 2000

IEC61000-4-3 : 2002, IEC61000-4-4 :2004

IEC61000-4-5 : 1995+A1:2000 IEC61000-4-6 :1996+A1:2000

IEC61000-4-8 : 1993+A1:2000 IEC61000-4-11:1994+A1:2000.

B STABLE OPERATION

With a strong magnet and spring force, the valves are tough against contamination and thus ensure
a stable operation. Under standard operation, the durability to 10 million spool shifts.(Average)

B HIGH QUALITY & COMPETITIVE PRICE

All products are 100% tested by professional testing machinery. The material of tube is imported
from Japan, and all parts are processed by professional specific automatic machinery. But the price
is less 30% than leading brands.

B EASY MAINTENANCE

Plug-in solenoid, all spools and bodies are interchangeable, the head of tube is design to hexnut to
simplifying maintenance and reduce damage when assembl.

B HIGH PERFORMANCE[1SWGH SERIES

High pressure(up to 35MPa), high flow rating, provides low pressure drop, with maximum
performance. If need more details please consult our distributors.

B CUSTOMIZATION

According to the requirement of customer to customize the product, and 100% satisfy their need.

PAGE 14



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

**MOUNTING BOLTS :

Descriptions Soc.Hd.Cap Screw(4 pcs.) Tightening Torque

Taiwan Design Standard
European Design Standard
N.America Design Standard No.1/4-20 UNC x 1-1/2 Lg.

% Four socket head cap screws in the table below are included

03 : M6 x 35 Lg 03 0.5 - 0.7Kgf
m(43 - 60 in. Ibs)

**SPECIFICATION :

Max. Max. T-Line | Max.Frequence . . Ambient .
Pressure Ratsd. Flow | gack Pressure|  of Operation F;\I}ratlon Temperature Wf'ght
(kgffem?) (tfmin.) kgf/cm? (cycle/min.) LalGon; Rrange(C) (kgs)
3C~2D -~ 2N -
315 160 . .
(31.5MPa) 100 (16 MPa) 240 25 5~60 [NCH46 DCOB
4570 psi) | (2839PM) | (5350 psi) Bes 75 2B
i P AC:3.8 DC:4.4

% Spool type "5", "6", "60" Max. Pressure : 250 kgf/cm?(25MPa, 3630psi)

**SOLENOID RATING :

5 Voltage Frequence Currerjt At Rated Voltage
ower (V) (HZ) In-Rush Holding Power
Current(A) Current(A) (W)
50 3.20 0.80
A110 60 2.90 0.65
3.10 0.70
50 2.50 0.84
AC A120 60 2.97 0.64
50 1.72 0.42
A220 60 1.47 0.32
1.63 0.35
50 1.73 0.42
A240 60 1.47 0.32
D12 3.1
- D24 1.6 38

% Solenoid Isulation Class: Class H

]
!
>
os}
I
=
o
I
o9}
>
1
=
0
1
=

Spool Type
** PERFORMANCE CURVES - ggg
Test fluid viscosity:35 cst(175ssu) 3C4

Test temperature: 50°C (122°F) 3C40
3C5

3C6
3C60
3C7
3C8
3C9
3C10

P 3c11

3C12
—
| 2D2

2D3
2B2
2B3

N
o
=}

]
o
o

S
=3

\
QPOE®EE

Pressure Drop (kgflem?®)

w
=

o
o

0 10 20 30 40 50 60 70 80 90 100
Flow (I/min)

NIN[Wlw|~A|O|OO|A|OO|OM|O|O|R A |O|H

NIN[fWwjwo|o|ojajojaajoag|fo|N|o| O,

(SIS IR E N P P N EoR KSR ES B F S B BN Fo) ) N

olojlojoNjlojlojoN/laaoa|o|g|N| O,
1

PAGE 15



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[DIMENSIONS)
1ISO4401-03-02-0-94 ~ NFPA-DO3 ~ CETOP 3 ~ DIN 24340 NG6

40.5(1.59)
33(1.3)
30.2(1.19) |
21.5(0.85) S
12.7(0.5) & o
S o
Nl 5]
T 5|
N N -
N ] - ﬁ
= B (D) (DA HE
fh D~ m
N 71 u% N
Locating pin can be fitted to this hole to conform with
ISO 4401-03-02-0-94. However, locating pin is not provided to
standard design valve. When ordering valve with a locating pin,
please consult SOLTECH. UNIT: M.M
SWG-(H)-02-3% 3% 3%¢-AC SERIES
198(7.79) 49(1.93) 148.5(5.85)
LI ® |
%
9
Vs [ B [— 2 3 / | [
soLTeECH @ o 5 soLTeECH
% [ HYDRAULIC CO., LTD. :| % @ = 2 ﬁ' [ HYDRAULIC CO., LTD.
APB 2| g APB
66(2.6) 66(2.6) 140(5.51)
SWG-(H)-02-3% 3% 3%-AC-N SERIES
198(7.79) 126.5(4.98)
49(1.93)
JL JL JL
AlES 3 : é} £
L 1 a § B —
% SoLTECH % @ 3 3 soLTeECH
HYDRAULIC CO., LTD. @ ‘O_‘) (,E ¢ HYDRAULIC CO., LTD.
| APEB) [ S| ¥ L | APB
66(2.6) 66(2.6) | 140(5.51)

227(8.94) 154.5(6.8)

LI [

s
an
a5

= —

soLTECH
HYDRAULIC CO., LTD.

APB

soLTeECH

HYDRAULIC CO., LTD.

APB

66(2.6) 80.5(3.17) 49(1.93) 80.5(3.17) 66(2.6)

49(1.93)
71.15(2.80)
82.15(3.23)

PAGE 16



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[DIMENSIONS])

1ISO4401-03-02-0-94 ~ NFPA-D0O3 ~ CETOP 3 ~ DIN 24340 NG6

40.5(1.59)
33(1.3)
30.2(1.19)
21.5(0.85) .
12.7(0.5) 8 3
S o
NI 19
T w6
P A g
: *l@L® P
- N
- B D) (D 5|2
s N =
A A
Prep W

/

Locating pin can be fitted to this hole to conform with 1ISO
4401-03-02-0-94. However, locating pin is not provided to
standard design valve. When ordering valve with a locating pin,

lease consult SOLTECH.
P UNIT: M.M,
SWG-(H)-02-3%3%5%-DC SERIES
223(8.78) 49(1.93) 161(6.34)
Eia & |
L
T 1 A § [
ol
SsoLTECH Q & o soLTeECH
HYDRAULIC CO,, LTD. @ CD N (e} HYDRAULIC CO., LTD.
ol | N~
APB g APB
66(2.6) 78.5(3.09) 152.5(6.0)
SWG-(H)-02-3¢3%3%-DC-N SERIES
223(8.78) 49(1.93) 126.5(4.98)
(II2C JC|| [
[ @ )
= = 3 § = =
SoLTECH \K a o = soLTeECH
HYDRAULIC CO., LTD. @ = ‘Ci) ,': e} HYDRAULIC CO., LTD. ﬁ
APB 3 @ APB) [
66(2.6) 78.5(3.09) 144.5(5.69)
SWG-(H)-02-2¢ ¢ #¢-DC-L SERIES
49(1.93)
‘ 223(8.78)
soLTECH O =l ?3 SOLTECH
HYDRAULIC CO., LTD. @@D o) u HYDRAULIC CO., LTD.
ol =] ©
APB 3lg © APB
66(2.6) 78.5(3.09) 152.5(6.0)

PAGE 17



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[DIMENSIONS)
ISO4401-AC-05-4-A ~ NFPA-DO5 ~ CETOP 5 ~ DIN 24340 NG10

95(3.74)
54(2.13)
50.8(2.0)
37.3(1.47)
27(1.06) =
16.7(0.66 &
3.2(0.13) SJ
<
[{e}
ES \ ’ﬁ/
2 bl 7 I =Y
= n \\// » N 9 Q
% P S I Q k — N % =
@-{llHH |- B bodriio—t——"§ I &
I \7 T\jf ~ — ™® by =
g R Pl 2 %§§§§— ¥ R
| < \\ / \ // ﬁ Ll
1) IO |
UNIT: M.
SWG-(H)-03-3% 3% -AC SERIES
245(9.65) 70(2.76) 187(7.36)
=T
N
—/ -
Q ™
N
soLTecH o & - ol
[ M “““““““““““ M ] @ Sk M M ]
TBPAT e il %8 TBPAT
™
95(3.74) 75(2.95) 180(7.09)
SWG-(H)-03-3 3% -AC-N SERIES
245(9.65) 164(6.46) ‘
70(2.76)
o[ [ ] I | E g

LLLLLLLLLLLLL

TePAT) ==

180(7.09)

85(3.35)
99(3.9)
(T 11

DDDDDDDDDDDDD @

== [[BPAT] —= —

95(3.74) 75(2.95)

66(2.6)

36(1.42)

PAGE 18



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

[DIMENSIONS])

1ISO4401-AC-05-4-A ~ NFPA-D0OS5 ~ CETOP 5 ~ DIN 24340 NG10

95(3.74)
54(2.13)
50.8(2.0)
37.3(1.47)
27(1.06) .
16.7(0.66 &
3.2(0.13) =
©
ES | \ ’ﬁ/
2 4 N \J// % ~
[ L Il ol &
4 i < <
@ il N I 4%,_ N
- Tl % BN AN v 1 S
Vel S 7T

AC220V/50HZ

e
E |
\
2|-09/l+bzzov
|
J —
” i
46(1.81)
70(2.76)

Oy
) UNIT M.
SWG-(H)-03-3i¢ 3% %-DC SERIES
70(2.76)
295(11.61) 212(8.35)
5 |
Mfﬁhﬂ;‘iﬁu @ - g Z;-)« E L“?E.‘UIE%M
% S
95(3.74) 100(3.94) ‘ 205(8.07)
SWG-(H)-03-3i¢ 3% %-DC-N SERIES
70(2.76)
295(11.61) 158(6.22)
fany
NI

100(3.94)
114(4.49)

[T 11

M EE&EE?EU

95(3.74) 100(3.94) 205(8.07)

SWG-(H)-03-% % »¢-DC-S-N SERIES

i

295(11.61) i 205(8.07)
®
i ) =7 i ;
D «
SOLTECH, —~ Q \L(_)’ SOLTECH,
i
o o~
TBPAT © TBPAT
95(3.74) 100(3.94) 70(2.76) 95(3.74) 100(3.94)

PAGE 19



—J'lz DIRECTIONAL CONTROLS

j |- SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

SWG-(H)-02-2B2-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 20



DIRECTIONAL CONTROLS

SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

U
ar

soLTecH

SWG-(H)-02-3C2-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

SWG-(H)-02-3C2-AC(DC)-(S)-N ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 21



JL DIRECTIONAL CONTROLS

j |- SOLENOID OPERATED DIRECTIONAL CONTROL VALVES
SOLTECH

SWG-(H)-02-2D2(2N2)-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 22



U
ar

soLTecH

DIRECTIONAL CONTROLS
SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

SWG-03-2B2-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 23




JL DIRECTIONAL CONTROLS

j |- SOLENOID OPERATED DIRECTIONAL CONTROL VALVES
SOLTECH

SWG-03-3C2-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 24



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

SWG-03-2D2(2N2)-AC(DC) ASSEMBLY (PARTS LIST SEE PAGE 23)

PAGE 25




U
ar

DIRECTIONAL CONTROLS
SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTeECH
[PARTS LIST OF "sWG" SERIES ]

NO. PART NAME SWG-02-AC | QTY. [SWG-02-DC-(S) |QTY.| SWG-03-AC |QTY.| SWG-03-DC-(S) |QTY.
1 |Lock Nut 05080102 | 1~2 | 05080102(S) |1~2| 05080101 1~2 | 05080101(S) [1~2
3 [Tube 05072901 | 1~2 05072903 1~2 | 05072904 | 1~2 05072905 1~2
4 |Push Pin 06011701 | 1~2 05071409 1~2 | 05071408 | 1~2 05071407 1~2
5 |O Ring-AS113 05072601 | 1~2 05072601 1~2 | 05072605 | 1~2 05072605 1~2
6 [Spring for Single Sol. 05081004 | 0~1 05081004 0~1| 05081003 | 0~1 05081003 0~1
7 |Retainer 05071501 2 05071501 2 05071502 2 05071502 2
8 |Body 05010701 1 05010701 1 05010801 1 05010801 1
9 [Spool Seepage 34| 1 See page 3,4 1 | Seepage34 | 1 See page 3,4 1
10 [Spring for Double Sol. 05080103 | 1~2 05080103 1~2 | 05081002 | 1~2 05081002 1~2
11 |Back Cover 05072001 | 0~1 05072001 0~1| 05071903 | 0~1 05071903 0~1
12 |O Ring 05072603 4 05072603 4 05072604 4 05072604 4
13 [Pin 05071503 4 05071503 4 05071504 4 05071504 4

TERMINAL BOX TYPE

NO. PART NAME SWG-02-AC | QTY. | SWG-02-DC | QTY. | SWG-03-AC | QTY. | SWG-03-DC | QTY.
2 |Call 05080403 1~2 | 05081108 1~2 05081107 1~2 05080404 1~2
14 |Terminal Box 05100608 1 05100608 1 05100705 1 05100705 1
15 |Terminal Base 06012003 1 06012003 1 - 1 - 1
16 [Gland Nut 05081001 2 05081001 2 05081001 2 05081001 2
17 |Plastic Cover for 05072909 | 0~2 | 05072909 | 0~2 05072909 0~2 05072909 0~2
18 |Fixing Screw-M3.5x19 06011801 2 06011801 2 06011801 2 06011801 2
19 [Cooper 04050801 0~1 04050801 0~1 04050801 0~1 04050801 0~1
20 |Fixing Screw-M3x8 06012502 2 06012502 2 06012502 2 06012502 2
21 |Plastic Cover 05100701 1 05100701 1 05100708 1 05100708 1
22 [NamePlate 06021605 1 06021605 1 06021607 1 06021607 1
23 |Fixing Screw 06012004 2 06012004 2 06012004 2 06012004 2

DIN CONNECTOR TYPE "DIN 46350"

NO. PART NAME SWG-02-AC | QTY. [SWG-02-DC-(S) [QTY.| SWG-03-AC | QTY. | SWG-03-DC-(S) |QTY.
2-1 |Caoll 05081107 | 1~2 | 05080404(S) |1~2| 05040801 1~2 | 05080505(S) [1~2
24 |Gasket 06021603 | 1~2 06021603 1~2 | 06021603 | 1~2 06021603 1~2
25 |Housing 06021601 | 1~2 06021602 1~2 | 06021601 1~2 06021602 1~2
26 |Fixing Screw 06021604 | 1~2 06021604 1~2 | 06021604 | 1~2 06021604 1~2
27 |Fixing Screw-M3.5x6 05100501 2 05100501 2 05100501 2 05100501 2
28 [Nameplate 06021606 1 06021606 1 06021608 1 06021608 1

LEAD WIRE TYPE: "SWP CONNECTOR OR DT-04-2P CONNECTOR"

NO. PART NAME SWG-02-AC | QTY. [SWG-02-DC | QTY. | SWG-03-AC | QTY. | SWG-03-DC | QTY.
2-2 |Caoll 06021609 1~2 | 06021610 | 1~2 06021611 1~2 06021612 1~2
29 [SWP Connector 06021613 1~2 | 06021613 1~2 06021613 1~2 06021613 1~2
30 [DT04-2P Connector 06021614 1~2 | 06021614 1~2 06021614 1~2 06021614 1~2

e The value of "1~2" in the "QTY.", means that if the valve is single solenoid, it needs "1"
unit, if the valve is double solenoid, it needs "2" units.

e The value of "06021614" in the "SWG-02-AC", means the part No. and CAD No., if you need the
CAD file, please contact with SOLTECH.

e The spool type includes "2B2, 2B3, 3C2, 3C3...", please see the page 3 and 4.

e The coil include Alternate Current: AC 110V/50HZ, 220V/50HZ, 240V/50HZ or Direct Current: DC
12V, 24V...

e As for DIN CONNECTOR TYPE, the part No. of Coil(2-1) for SWG-02-DC is 05080404; for SWG-02-DC-S is
05080404S respectively.

PAGE 26



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

LEAD WIRE CONNECTION AND DETAILS OF RECEPTACLE-"SWG-02 SERIES"

Type of
Electrical Conduit Double Solenoid Type Single Solenoid Type
Connection
— Power Supply
(For SOL.b) P Suppl Indicator Light
. . ower Supply ndicator Lig
Power Supply Indicator Light (For SOL.a)

(For SOL.a)

Terminal
Box Type
Common Plate %1
i Indicator
Indicator Lo
Light g
Common %2 Common %2
Ground
Plug-in 1-Power Supply %2

Connector
Type 2-Power Supply %2

% 1. If you do not need the common plate, remove it.
% 2. With DC solenoids, polarity is no question.

! DANGER !

e Do not perform wiring while the power is on.
Doing so may result in electric shock, burns or
death.

o Make the wiring properly. Improper wiring will

cause an irregular movement of the machine,

resulting in a grave accident.

ELECTRICAL CIRCUIT

Type of Electric Source
Electrical Conduit
Connection AC DC AC—DC Recetified
Indicator Light Indicator Light Indicator Light
Power o Power Power
Supply )i Supply Supply )i |
Terminal 4 7
ermina
SOL. SOL.
Box Type Sl
~
Common Common Cpmmon
Voltage-Surge Voltage-Surge Rectifier
Suppressor Suppressor Circuit
" . Voltage-Surge
Indicator Light Suppressor
Indicator Light
1-Power 1-Power, 1-Power,
Supply '[ Supply Supply
Plug-in 4 / \
Connector SOL. SOL. SOL.
Type -
2-Power P-Power l l \ 2-Power,
Supply Supply \ Supply
\ Rectifier
Voltage-Surge Circuit
Suppressor

e \/oltage-Surge Suppressor(Circuit composed in coil) is not added in standard design. if need please consult SOLTECH.

PAGE 27



i | DIRECTIONAL CONTROLS
1 SOLENOID OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

LEAD WIRE CONNECTION AND DETAILS OF RECEPTACLE-"SWG-03 SERIES"

Type of
Electrical Conduit Double Solenoid Type Single Solenoid Type
Connection
Power Supply Power Supply
(For SOL.a) (For SOL.a)
Power Supply .
Indicator (For SOL.b) Ir?dlcator
Light Light
Terminal 2 5 9 =
Box Type N 7 ) i
Indicator Indicator
Common Plate %1 Light Light
Common %2 Common %2
Ground
Plug-in 1-Power Supply %2
Connector
Type 2-Power Supply *2

% 1. If you do not need the common plate, remove it.
% 2. With DC solenoids, polarity is no question.

! DANGER !

e Do not perform wiring while the power is on.
Doing so may result in electric shock, burns or
death.

o Make the wiring properly. Improper wiring will

cause an irregular movement of the machine,

resulting in a grave accident.

ELECTRICAL CIRCUIT

Type of Electric Source
Electrical Conduit
Connection AC DC AC—DC Recetified
Indicator Light Indicator Light Indicator Light
Power o Power Power
Supply )i Supply Supply )i |
Terminal 4 7
ermina
SOL. SOL.
Box Type Sl
~
Common Common Common
Voltage-Surge Voltage-Surge Rectifier
Suppressor Suppressor Circuit
" . Voltage-Surge
Indicator Light Suppressor
Indicator Light
1-Power 1-Power, 1-Power,
Supply '[ Supply Supply
Plug-in 4 / \
Connector SOL. SOL. SOL.
Type -
2-Power P-Power l l \ 2-Power,
Supply Supply \ Supply
\ Rectifier
Voltage-Surge Circuit
Suppressor

e \/oltage-Surge Suppressor(Circuit composed in coil) is not added in standard design. if need please consult SOLTECH.

PAGE 28



JL DIRECTIONAL CONTROLS

j |- SOLENOID OPERATED DIRECTIONAL CONTROL VALVES
SOLTECH

[CHANGEOVER TIME]

e Test Circuit and Conditions

e Test Conditions

Accelmeter
Pressure: 16MPa(163 kgf/cm?)
T |~ Seeed Flow: 31.5 L/min

JECHNON Viscosity: 35mm?/s{cst}
| Load Voltage:100% of rated voltage(After the coil
MM X T LA temperature raises and saturated)
T T

eResult of Measurement

3 X /%/
ON
P? Solenoid OFF [ | _OFF

—LL Spool Shift 0 0
A \_/
| T1 T2
I T
Time(ms) Time(ms)
Type Model No. T T2 Type Model No. T T
AC | SWG-(H)-02-3C2-A%-(3%) 12 D) AC | SWG-(H)-03-3C2-A%¢-(3%) 29 25
DC | SWG-(H)-02-3C2-D*-(3%) 51 22 DC | SWG-(H)-03-3C2-D ¢-(3%) 100 37
RF | SWG-(H)-02-3C2-R%-(3%) 57 104 RF | SWG-(H)-03-3C2-R%-(3%) 100 204

[INSTRUCTIONS]

< MOUNTING * No-spring detented models not energized continuously must be installed so that the
spool axis will be horizontal. Other models are not restricted to mounting horizontally.

< ENERGIZATION : On double solenoid valves, do not energize both solenoids at the same time.
Solenoid burn-out may occur.

< VALVE TANK PORT : Avoid connection of the valve tank port to a line where surge pressure is
likely to occur. Pipe end of tank line should be submerged in oil.

»* HYDRAULIC FLUID :
© Type of Fluid
% Petroleum based fluids: Equivalent to ISO VG32 or 46.
% Synthetic fluids: Phosphate ester or Polyol ester type.
% Water Containing Fluids: Water-glycol fluids or W/O emulsion type.

© Recommended Viscosity and Temperature
% Always be sure to use hydraulic fluids within the stipulated conditions as follows:
Oil Temperature: 5 to 160 degrees F
Viscosity: 77 to 1800 SSU

© Control of Contamination
% Due caution must be used to maintain control over contamination of hydraulic fluids
which may otherwise lead to breakdown and shorter valve life.
% Please maintain the degrees of contamination between NAS 1638-Grade 12, Use 9.8 x 10
inch or filter line filter.

PAGE 29



U
ar

soLTecH

DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT DIRECTIONAL CONTROL VALVES

[GRAPHICAL SYMBOLS)

(Example)ln Case Of Spool Type "3C2"

N
=y =t

2B2B 2B2A

Neutral Position

SOL. a Energized Position SOL. b Energized Position
N =

1) Example: Three switched position(3C) with spool type "2", ordering code "3C2".

2) Example: Two switched positon(2B) with spool type "60" , ordering code "2B2".

3) Example: Two switched position(2B) with spool type "8" and reverse assembled, ordering code "2B8L".
4) The dotted line of graphical symbol(2B, 2N) represent the momentary switched position.

Three Switched : - Two Switched
Position Graphical Symbol Two Switched Position Graphical Symbol Position Graphical Symbol
Spring Centred No Spring Spring Offset
AR Model No: AR b Vodel N - AR
Model No: "‘E‘ﬁ;@:&%b BNt : a?ﬂ;@jﬁ odel No: a%zl Y
"3C"+ Spool Type 2N"+ Spool Type "2B"+ Spool Type Y
Spool Graphical Spool Graphical Spool Graphical Spool Graphical Spool Graphical
Type Symbol Type Symbol Type Symbol Type Symbol Type Symbol
||2|| [X}EE Il3ll [X]E]E ||4|| [X]E]E n40|| mll' ll5ll E:Ejﬂ
"60" [HHEH[E ||7|| mlllll ||8|| @Eﬁ "85" @Eﬂ ||9|| m
||10n m ||11|| [X]EE ||12|| m

1) Example: Two switched position(2B) with spool type "2A", ordering code "2B2A".

2) Example: Two switched position(2B) with spool type "8B" and reverse assembled, ordering code "2B8BL".

3) Example: Two switched position(2B) with spool type "12A" and reverse assembled, ordering code "2B12AL".

4) Valves Only Using Neutral Position and Side Position (Two Position Valve, No Intermediate or Momentary
Swithched Position)

Graphical Symbol Graphical Symbol
T Switiaics Besfien Standard Reverse Assembled Threpeogi‘t'\i’ci)tﬁhed Standard Reverse Assembled
Spring Offset Assembled Sp(l)\él)?grslpgi: oo Spring Offset Assembled Spcm?gr?/:)gg: o
"ZBMOSSLSIIO'I:'ype a E‘Eﬁ ”@:ﬁ b "2B"'\-A+O§;e>lx’;llo'l:'ype a %:ﬁ% /\/{A i }bzig b
?{J/ggl Graphical Symbols %’/gzl Graphical Symbols
2A L] L 28 s L1
3A HI <] 38 X HI
4A A1 ] 4B R A1
40A Sill B 408 = Sill
5A XH XIH 58 = XIH
60A = L 608 i =
7A 8
8A N A 88 A N
oA =1 %8 XE =1
10A LT 108 LT
1A L] 1B XL i
12A ANiF JoAN 128 AN AN

PAGE 30



U
ar

soLTecH

DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT DIRECTIONAL CONTROL VALVES

[DsHG-03/04/06/10]
*<SPECIFICATION

Model Max. Flow Max. Pressure | Pilot Pressure | Weight
(&/min)/(U.S.GPM) (MPa)/(PSI) (MPa)/(PSI) (kg)
DSHG-03 150(39.6) 31.5(4570) 25(3630) 5.4
DSHG-04 6.2
SshGosag | 30079.3) 31.5(4570) 25(3630) .
DSHG-06 12
DsHG.06.AB | 500(132) 31.5(4570) 25(3630) "
DSHG-10 50
SsHe10.AB | 1100(291) 31.5(4570) 25(3630) =G
#*<ACCESSORIES
Model Socket Head Screw Cap O Ring
European Design Std. North America Design Std. (JIS B 2401-1B)
DSHG-03 M6 x 40 Lg. 1/4-20 UNC x 1-1/2 Lg. 4 | Pcs P12 5| Pcs
M6 x 45 Lg. 1/4-20 UNC x 1-3/4 Lg. 2 | Pcs P9 2| Pcs
DSHG-04-(AB) M10 x 50 Lg. 3/8-16 UNC x 2 Lg. 4| Pcs P22A 4| Pcs
P14 2| Pcs
DSHG-06-(AB) M12 x 60 Lg. 1/2-13 UNC x 2-1/2 Lg. 6 | Pcs P32 2| Pos
P20 2| Pcs
DSHG-10-(AB) M20 x 75 Lg. 3/4-10 UNC 3 Lg. 6 | Pcs 0 + Pes
*<MODEL NUMBER DESIGNATION
DSHG 04 3C60 AB (E) (T) (90)
VALVE SIZE
03 :
ISO 4401-05, CETOPS5,
NFPA-D05
04: DESIGN NO.
o - OMIT:
’ 06: TYPE | HANDHOLD [OMIT:INTERNAL PILOT bRAIN 90:
: UNC BOLTS
ISO 4401-08, CETOPS, (NORTH AMERICA)
NFPA-D08
10:
ISO 4401-10, CETOP10,
NFPA-D10
**PERFORMANCE CURVE Spool Pressure Drop Curve Numbers
Type P—A BT P—B A—T P—T
PSI MPa DSHG-03 @@ @ 2 3 3 4 4 -
o 3901 20 yarayde 3 5 5 5 6 4
a 250 4 / 5 4 3 5 4 6
£ 200 A 40 3 3 4 4
© 150l 2 5 6 3 4 6 2
3
2 0.8 60 3 3 4 4 1
g 1001 7 3 3 4 4
& sof 0';‘ 9 6 3 6 4
0 ) 10 3 5 4 4
0 4‘0 ?O 1‘20 ‘160 L /min " 5 3 2 2 —
0 10 20 30 40 U.S.GPM 12 3 3 4 6
Flow Rate
Spool Pressure Drop Curve Numbers
DSHG-04 Type P—A BT P—B AT PoT
2
PSI MPa 2 5 4 5 6
1801 (D £ 3 5 3 5 5 7
1.2
% 1e0f- / / 5 4 5 3 5 5
& 120l o / S0 40 5 4 5 6
c ' —~7) 5 7 4 5 5 5
5 8o 6 5 3 5 6 1
g 04 / g 60 7 5 7 7 2
& 40 % 7 5 4 5 6
o0 9 5 4 5 6
0 50 100 150 200 250 300 L/min 10 5 2 5 6
| | | | | | | |
0 20 40 60 80 U.S.GPM L 6 4 S 6
Flow Rate 12 5 4 5 5 -

PAGE 31



JL DIRECTIONAL CONTROLS

l | SOLENOID CONTROLLED PILOT DIRECTIONAL CONTROL VALVES
soLTeECH
Spool Pressure Drop Curve Numbers
DSHG-06 Type P—A B—T P—B A—T P—T
1 2 8 B 8 7 -
N 5005 /% 3 6 4 6 7 4
S 4 8 5 8 7
g 2074 6 /@ 40 8 5 8 7
S 201, (5 5 8 4 5 7 1
£ 150 —(®) 6 5 3 5 4 1
2 100 08 2\, 60 6 5 6 7 1
& gl 04 7 6 4 6 7
0 9 6 4 6 7
0 100 200 300 400 500 L/min 10 8 5 8 7
! | | ! | ! | 11 8 4 5 7 —
0 20 40 60 80 100 120 140 U.S.GPM
Flow Rate 2 L 3 L i
Spool Pressure Drop Curve Numbers
DSHG-10 1 Type P—A BT P—B A—-T P—T
PSI MPa 2 9 6 9 8
g %020 /@ 3 7 6 7 7 5
o 2501, o @ 4 9 6 9 6
8 200 (5 40 9 6 9 8
2 150/ 12 %) 5 9 6 8 6 1
§ oo™ :i.® 660 : 2 2 g 2
o 0.4
S0 ® 7 7 6 7 7
0 0 100 200 300 400 500 L/min 9 7 6 7 8
| | | | | | | 10 9 5 9 8 —
0 20 40 60 80 100 120 140 U.S.GPM 11 9 6 8 7
Flow Rate 12 9 7 9 ) .
*<FUNCTION DESCRIPTION
: Pipe plug
Pipe plug . .
DSHG-03 Removed for internal pilot Removed for internal drain
) )
é\@\\’é@ @§y$
DSHG-04 Section X-X Section Y-Y
Removed for internal pilot model Removed for internal drain model
' &
_ J 4 Hch e
Lx Ly T -
DSHG-06/10 XX Yy
Removed for internal drain model Removed for internal pilot model

C

S, E%l

Mg

PAGE 32



DIRECTIONAL CONTROLS

SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

soLTeECH
DIMENSIONS UNIT: M.M.(INCHES)
DSHG‘03 48(1.89) “"A"1 Cylinder Port "A” "P“1 Pressure Port "P”
% % an’ \ \ “B"1 Cylinder Port "B”
5
i VAR
ING /" IR
= = = Pag 2l
- - B A~ N AN IR
: ¢ B
S = e ‘
] & B | |
9 €] R 59.2(2.33) [ 54(2713)]
7 r 0 = 172.4(6.
216(8.5)
L L | . “T"[1 Tank Port T
Jis 2T S
oo © \% \ Y5 #8171 Pilot Drain Port Y~
£ "X'5 | #EE}1 1 Pilot Puressure Port "X”

BEFISMERT [0
HPT 1/16 45 FR=]

Mounting surface

BEFIYMERIENHI - PT 1/16 48 BRI=]

To install PT 1/16 when

use external pilot To install PT 1/16

when use external drain

DIMENSIONS

UNIT: M.M.(INCHES)

DSHG-04

BEFIAMERS 250 - HEPT 1/164% FR[IAT
To install PT 1/16 when use external pilot

5IEE X"

"P"[1 Pressure port "P"

Pilot pressure port "X"

To install PT 1/16 when use external drain

2 |24 (]38 C1"Y" Pilot drain port "Y"

F % 5 MAX. 186(7.32)
@ "T"1 Tank port "T" | 42.3(1.67) 101.5(4.00)
\34(1\34)
el T
S )
N~ —~| o < > /\ T o ———]
= = < IR NP
] = QS| 3 ST /
- S| ® 5/ / //:\\\ /J}:\ " “\
o R | uf WOV =
—_— ™
~ E — N\~ X"/ ‘?
LS8 == anid gl AR
? 5{% i 50(1,87) 4x@11(0.43
@ AT T 126(4.96)
SEFISNEDIEIERS » HPT /164 LRn] = Cylinder port "A "B
/ 2x37(0.28) Cylinder port "B"
ZAEH

Mounting Interface

DIMENSIONS

UNIT: M.M.(INCHES)

DSHG-04-AB

BEFHMIS 50 - KPT 1/164% FRTAT
To install PT 1/16 when use external pilat

|

- s - 5SS
o P"[1 Pressure port "P Pilot pressure port "X"
g "T"C1 Tank port "T"
~ T A\MAX.310(12.20)
104.3(4.11) 1?&1 5(4.00)
1 T S 1\34)
== ¢ —
g \:? g .z) N D
T i T e }*H\\ s " TN
= Q\ : —I gzg}r ‘ /L\\‘ //é . \‘
[SRI288 7 )
a‘ © BT o
prN Y
HEFHIMIELHEY - FPT 1/162% FRIA] < fle © S < 4X®11/r 50(1.97)
o
To install PT 1/16 when use external drain =< (043) | 126(4.96) 2x@7(0.28)
Cylinder port "A"  / "B"
® © "A"C Cylinder port "B"
ZEHETH 5 |2 a3y 1"y Pilot drain port "Y"

Mounting Interface

PAGE 33



DIRECTIONAL CONTROLS
SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

=IJI|~E@

soLTecH

DIMENSIONS UNIT: M.M.(INCHES)

DSHG-06

39(1.54)

H
B

MTZ#
@ 5
N

BEFISNEREDHEE - H#PT 1/16 48 FRIA]

To install PT 1/16 when use external drain
HT [11 ZE A
L ) Mounting interface
"T"[l Tank port "T" "P"[1 Pressure port "P"
256(10.08) a1 "
51(2.01) 130.2(5.13) SIREIRAY" % %
\53.2 2.09) Pilot drain port "Y'
| AGENEE
N : Sotry ;
elex ! % THOT OeTT U spyspans s APB
3= —%” )i 5 of M‘%ﬁ HEPT 1/16 4 [-BIH]
A N . A9 To install PT 1/16 when
° 3 SRy (= = use external pilot
ol 77(3.03) 6x213(0.51) I m R @ s
o ~
=2 161(6.34) "B"[1 Gylinder port "B” T
5 AEE T X" "A"[1 Cylinder port "A"
Pilot pressure port "X"
DIMENSIONS UNIT: M.M.(INCHES)
DSHG-06-AB

39(1.54)

7

BEFISNERIEHE  HFFPT 1/16 48 FRIA]

To install PT 1/16 when use external drain
"T"[1 Tank port "T" "P"[] Pressure port "P" o %%tﬁrf
380(14.96) ounting interface
113(4.45) 130.2(5.13) 5 [ e Y
153.2(2.09) Pilot drain port "Y"
-1
TG

118(4.65)
92.1(3.63)

: SN 2285

5 ”o§¥j6

“EE AR ﬂ T
= ) =

© N A}

VT

=

=, S YPT 1/16 55 FHIE )

77(3.03 \ 6x013  To install PT 1/16 °

- yn (0.51)  when use external pilot &

SlERE X 161(6.34) G S

f nyn N
Pilot pressure port "X "B"[1 Cylinder port "B" U - ] u

"A"[1 Cylinder port "A" : }1 ?TE

PAGE 34




i | DIRECTIONAL CONTROLS

| | SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES
soLTeECH
DIMENSIONS UNIT: M.M.(INCHES)
DSHG-10
f 7
B
g
[To]
= g
EEFHAMEN A - PT 1/8 4% FR[IA] i1
To install PT 1/8 when use external drain| 3 \ |
Ll
HEFSMETS 2505 > fFPT 1/8 45 FRIA]
"T" [1 Tank port "T" "P" [1 Pressure port "P" To install PT 1/8 when use external pilot
388(15.28)
83.8(3.30 190.5(7.50) 5IE B "Y"
76.2(3.00) Pilot drain port "Y"
 EREE ﬁ@\/
~ & o N = -
JHENS Z—\
S| 25 ®
= < e V=
TR @
& = 2x FHETL M8x1.25 — ~ ‘
© g ‘ ‘ ‘ ?8(23)2 2 Holes for hanging ring
=15 o i
@I%Eﬁﬁﬂ = "B" [ Cyllnder pOI't "B" #%\2 -
Pilot pressure port "X" "A" [ Cylinder port "A" Mounting interface
DIMENSIONS UNIT: M.M.(INCHES)
DSHG-10-AB %_JI i
[ I T8

265.5

M
x aff ]

HEFHAMETEDHIE - A&FPT 1/8 45 FRT]
To install PT 1/8 when use external drain

BEFAANAS [0 - & PT 1/845 FRja]
To install PT 1/8 when use external pilot

"T" [ Tank port "T" "P" [1 Pressure port "P"
Bk Max. 565(22.24)
388(15.28) B El T Y
83-8(%30) 190.5(7.50) Pilot drain port "Y"
76.2(3.00)
\

58 o
~l el 2
S| % & = :
S 8|3
= 2x 7L M8x1.25 ,
w 2 Holes for hanging rin - -
oS \ 6x@22(0.87) ging ing
o d
N2 "B" [ Cylinder port "B" SEAETH \
5EEE O "X "A" [ Gylinder port "A" Mounting interface

Pilot pressure port "X"

PAGE 35



JL DIRECTIONAL CONTROLS

j r SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES
soLTecH
MOUNTING INTERFACE DIMENSIONS UNIT: M.M.(INCHES)
DSHG-03 e
50.8(2.00)
37.3(1.47)
27(1.06)
16.7
3.2(0.13) | (0.66)
g 8(0.31)_ |
ol3sis (& BE2A @)
Sh T T DSHG-04
[ ®@ | 101.5(4.00)
- -D- 88.1(3.47
R‘LU\ ‘ ‘ rﬁ 65.8(2.59(3) )
_ 50(1.97)
§ 34(1.34) ~
0 o (O
s 7 @@ :
~ st )
gg % 3 % A@B@ Y JSE %
88 | T — P | ®
“ ﬁ m @ X -
@) @ 5
\
18.3(0.72)
34(1.34)
50(1.97)
76.7(3.02)
MOUNTING INTERFACE DIMENSIONS UNIT: M.M.(INCHES)
DSHG-06 130.2(5.13)
100.8(3.97)
77(3.03)
53.2(2.09)
29.5(1.16)
17.5(0.69)
/_\V [ O \\ -
ol _ Q@ ®©ﬁ$© DSHG-10
d48s ) )
SRR X B A 2 190.5(7.50)
g g § o 147.6(5.81)
g & P%;%q\P Y = 114.3(4.50)
S @OHY) & e
29.4(1.16) = /\/ 5 \:A g
53.2(2.09) |z ©) @ ARy = QJ =
77(3.03 | gl ?
;ﬂ;n) § g & X A > B l; %
112.7(4.44) g g /J;\ P Y . by
- 7N Q
=00 ¢ i

S)

41.3(1.63)
76.2(3.00)

114.3(4.50)
147.6(5.81)
168.3(6.63)

PAGE 36



i | DIRECTIONAL CONTROLS
1 SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES

soLTecH

ASSEMBLY

DSHG-03

Item No. Part Name Quantity
1 Valve Body 1
Plug PT 1/16
Plug PT 1/8

JIS B 2401-1B-P9

JIS B 2401-1B-P28

Spool
Washer
Spring
Cover Plate
Plug PT 1/16
Bolt M8X30L

OV |w|N

ORINININ|I=INO|~ W

ala
-l

DSHG-04

Iltem No. Part Name Quantity
1 Valve Body 1
Plug PT 1/8
Plug PT 1/16
Spool
Washer
Spring
JIS B 2401-1B-P9
JIS B 2401-1B-P22A
Cover Plate
Bolt M8x30L

Oo|N|oO|O|d~|lw|N

OINININININ|[=|W|IN

-
o

PAGE 37



—J'lz DIRECTIONAL CONTROLS

_| |- SOLENOID CONTROLLED PILOT OPERATED DIRECTIONAL VALVES
SOLTECH

ASSEMBLY

DSHG-06

Item No. Part Name Quantity
Valve Body 1

5N

Plug PT 1/8
Plug PT 1/16
Spool
Washer
Spring
JIS B 2401-1B-P9
JIS B 2401-1B-P32
Cover Plate
Bolt M8x30L

Oo|N|o|O|~|lw|N

OINININININ|=|W[N

-
o

DSHG-10

Iltem No. Part Name Quantity
1 Valve Body 1
Plug PT 1/16
Plug PT 1/8

Spool
Washer
Spring

JIS B 2401-1B-P14

JIS B 2401-1B-P65
Cover Plate
Bolt M16x55L

O[NNI [wIN

OINININININ|=2[W|IN

-
o

PAGE 38



JU

DIRECTIONAL CONTROLS

l | MECHANICALLY OPERATED DIRECTIONAL CONTROL VALVES
soLTeECH
[DCcG)
*<SPECIFICATION ISO4401-AB-03-4-A
Max. Flow | Max. Oper. Pres. | Weight
Model (€/min)/(U.S.GPM) (MPa)/(PSI) (kg)
DCG-02 30(7.9) 31.5(4570) 1
*GRAPHIC SYMBOL
2B2 2B3 2B8
—XEAtl | «=XIHE» | =ZES
T T T T
#*<ACCESSORIES
Model .Socket Head Screw'Cap : O Ring
European Design Std. North America Design Std.
DCG-02 M5 x 45Lg. | 10-24 UNC x 1-3/4 Lg. |4|Pcs| P9 |4|Pcs
*<MODEL NUMBER DESIGNATION
DC G 02 2B2 (90)
CONNECTION TYPE DESIGN NO.
¢ VALVE SIZE DIN 912 BOLTS
SERIES NO. SUB—PL,#‘TE TYPE 02 : NG0B SPOOL TYPE 90
: UNC BOLTS
THREADED TYPE (NORTH AMERICA)
*PERFORMANCE CURVE
MPa
PSI 12
g "= o
a 08 Lo Pressure Drop Curve No.
% 100/— P Model Numbers PSA | BoT | PB | AT
2 DCG-02-2B2
[N - 04
0 DCG-02-2B3 e e . .
. DCG-02-2B8 3 3 -—-
20 30 Lmin
] ] ] ] ] ] ] ]
o 2 4 6 8 USGPM
Flow Rate RULLER POS.
*<DIMENSIONS v
RULLER POS. [ RULLER POS.
“STANDARD” ‘R
. #955.1(2.17)
R (0.63 f
S |
& & 5
® _ [ A= =
sl 3 | Tl 3
= e <
n - - o ~-—
-] oo - ~
B < AT 8 0oL
@ ‘ 20 ,
g /I <E
L P S R
1 S IS
. (0.22) -
i a7 - 49055 B E 1
%353» wA"] 26(1.02
: 44(1.73)
49 (1.93)
UNIT: M.M.(INCHES) THE DIMENSIONS OF MOUNTING INTERFACE PLEASE REFER TO PAGE 35

PAGE 39



U
ar

soLTecH

DIRECTIONAL CONTROLS
MANUAL OPERATED DIRECTIONAL CONTROL VALVES

[GRAPHICAL SYMBOLS)

. Ul "
(Example): In Case Of Spool Type"3C2
fasan D I > ]
] ST 3
#2
oo #3 #1
A\\\O
@°° 42 #3 ‘ ‘
#1
RE) =iy
1) Example: Three switched position(3C) with spool type "2", ordering code "3C2".
2) Example: Two switched positon(2B) with spool type "2" , ordering code "2B2".
3) Example: Three switched position(3D) with spool type "2" , ordering code "3D2".
4) The dotted line of graphical symbol(2B, 2D) represent the momentary switched position.
Three Switched Graphical Three Switched Graphical Two Switched Graphical Two Switched Graphical
Position Symbol Position Symbol Position Symbol Position Symbol
Spring Centred AB No Spring-With Detent AB Spring Offset LE* ag | No Spring-With Detent ‘ﬁ B
| | ’j M
Model No: D;D Model No: Mjgﬂm Model No: - j;;p Model No: +
"3C"+ Spool Type "3D"+ Spool Type "2B"+ Spool Type "2D"+ Spool Type
Spool | Graphical Physical Relationship Spool Spool Funtions and Applications
Type Symbol (Neutral Position) 02 03
\\:\\‘ \\ \\\ \\ Holds pump pressure and cylinder position at neutral. Care
"2" m ' \\ N \\ should be paid if used as a 2-position type because shock
LGS N \\\ occurs when each port is blocked in transit.
. ™.
% 1\ \\\ A, Pump can be unloaded and actuator is floating at neutral. If
"3 [X]E]ﬂ G W a_ |a2-position type is used, shock is reduced as each port is
\‘\\‘; . G releases to tank in transit.
%, & > Pump pressure is held and actuator is floated at neutral.
ngn [X]E]H ‘\ Nom N 2-position type is used when system pressure is required to
\\.‘\ \\\ " |be heldin transit. Shock during transit is less compared to
TEAIPIB S L [spool type "2".
> - { .
Ny >~
n " \/ ™. N In a variation of spool type "4", a restrictor is provided in A-T
40 Mhill \\\ {\ \’\C "\\ and B-T ports. Making it faster at stopping the actuator.
Tl AlplBl N N
N Ny
||5|| [X]:E‘jﬂ W “\ %W ~T~\‘_ It can be used when a pump is unloading at neutral and
‘\l\, Q WA actuator is halted at one way flow.
TiaAlPlB G G
<~ ~ -
NS N> Pump is unloading and actuator postion held at neutral
> / . g and actuator postion held at neutral.
"60" MHEH% “\;\ 7S, “\ \-»\ Suitable for series operation. Shock is reduced as each
‘\;\ - . & port is released to tank on transit.
™,
> ‘\Q -
n=n \/ (D AL Mainly used as a 2-position type. Shock is reduced on
7 XIHI M R N
& GO
N \\ Y \\ P d cylind held |
nqn \ e ump pressure and cylinder position is held at neutral in
8 @Eﬁ \\ \\\ =~ . the same way as spool type "2". It is used as 2 way type.
M AlPlB S G
\\‘ \\ \\\ \\
85" | 7] K|
uINEE NS s
~- \\ O
3 » N
"g" [X]:EJH WCR \\\ \\ Regenerative circuit is provided at neutral.
Tl allplB GO Y
oo O
Q" m \\ oo NS Prevent actuator from one direction drift by leakage of P
\\;‘\ e . |portat neutral.
ialpls - N
N & O
nqqn [X]Eﬂ \\~‘\ . \\ Sa Half actuator movement positively at B. T ports blocked P.A
N \\ . [port connected at neutral.
Tl AlrlB S K
v & N
||1 2u [X]EH “ o T Prevent actuator from one direction drift by leakage of P
= = i port at neutral.
i alprlB N &

PAGE 40




JU

DIRECTIONAL CONTROLS

_| |- MANUAL OPERATED DIRECTIONAL CONTROL VALVES
soLTeECH
[DMG/DMT 02, 03, 04, 06, 10]
< SPECIFICATION NG 6, 10, 16, 25, 32
Model Max. Flow | Max. Oper. Pres. |Allow Back Pres.| Weight A
(&/min)/(U.S.GPM) (MPa)/(PSI) (MPa)/(PSI) (kg)
DMG-02 3.4
DRT-03 50(13.2) ) 3.4
DMT(G)-03 10(1450) 4.0
DMT-04 100(26.4) SIEC ) 7.6
DMT(G)-06 180(47.6) 14(2030) 13.0
DMT-10 39.6 22.0
#*<ACCESSORIES
Model .Socket Head Screw.Cap : O Ring
European Design Std. North America Design Std.
DMG-02 M5 x 45 Lg. 10-24 UNC x 1-3/4 Lg. |4|Pcs| P9 |4|Pcs
DMG-03 M6 x 45 Lg. 1/4-20 UNC x 1-1/2 Lg. |4|Pcs| P12 |5|Pcs
* MODEL NUMBER DESIGNATION
D M T 04 3C60 (90)
VALVE SIZE
02: 1/4", 1ISO 4401-AB-03-4-A,
MANUAL NG6, CETOP 3
CONTROL CONNECTION 03: 3/8", ISO 4401-AC-05-4-A, DESOISI’I\IT'NO'
G TYPE NElG IR0 DIN 912 BOLTS
SERIES NO. M : VERTICAL | .. 04 : 1/2", ISO 4401-AD-07-4-A | SPOOL TYPE .
OPERATION CiISUBRLATEANVRE NG16, CETOP 7 UNC BO?_(%(NORTH
R : ROTARY LE LIS SAR SRR 06: 3/4", 1ISO 4401-AE-08-4-A, AMERICA)
TYPE NG25, CETOP 8
10: 1-1/4", 1SO 4401-AF-10-4-A,
NG32, CETOP 10

**DIMENSIONS

DMG-02

(1.34)

(0.47) 12

46) 37

(1.93) 49

(1.

(1.19) 30.2

(0.03)
0.75

L

15.5(0.61)
258 ((1.02)

1.28
25
w9
@

&

s

31
(1.22)

UNIT: M.M.(INCHES)

PAGE 41



JL DIRECTIONAL CONTROLS

j |- MANUAL OPERATED DIRECTIONAL CONTROL VALVES
SOLTECH

DIMENSIONS
DMG-03

{11 M10P1.0
P i/ HOLE DEEP 15

92 (3.62) 47 (1.85)
(0.43) o §
11 5 o~
R R S o ©
-_ R |8
- o5 | 70029
(99| | 1029) \ 70 (2.76)
37.3 (1.47)
27 (1.066[95)
16.7(0.66) _
42| g
B S o
Pl Ql 2y
O g
B A EEIRE
T@ @@T %2
-p- -
47,5 54 (2.12)
(1.87)
UNIT: M.M.(INCHES)
DIMENSIONS
DMG-06 164 1302
112.7
94.5
/7
23.2
EXTERNAL DRAIN
NO FUNCTION 29.4
H D) DT O
o ﬁﬁi ’F§Li'Y' — o
Q R & o\ Jllasdl O 2l 9 o =
@ ‘\\‘VF:::\H H/AN‘N - il N
AN ZN S
& AN
_ ™
® e exbola \ 6-913.5
= N 519.5
& & 100 eI

11

6-913

UNIT: M.M.(INCHES)

PAGE 42



JL DIRECTIONAL CONTROLS
- MANUAL OPERATED DIRECTIONAL CONTROL VALVES

soLTecH

DIMENSIONS

DMT-03

7 Dia. Through

N

11 C' Bore 4 pieces\ ————
&@\ 3/8"PT *2
A B
2 DAY
L\J J
fT\/f/
NS/ Aé} POS/T/O/\,
. POSI;I(Z:I:&,
T b 45,5(1.79)
56.2(2.21)
M10*P1.,0
92(3:62) 15 16,75
i L] N
3 — L 1 \\P\ | -
S fan il
N 0P ol2
[ — | 3Pt [[] || [
78 (3.07) 46 36 78(3.07)
(1.81) 174 (6.85) (1.41)
5/16
UNIT: M.M.(INCHES)
DIMENSIONS

DMT SERIES ﬁT P

D)

|

[

|

I

\

\

\

\

\

!

:

| T
094 K

N

[aa] |
E 1/2"PT
D
MODEL A B Cc D E F G H | J K L M
DMT-04 | 107(4.21) | 88.5(3.48) 227.5(8.95)| 63.5(2.50) | 46(1.81) | 63(2.48) | 118(4.64) 19.8(0.77) | 50(1.96) | 82.5(3.24) | 80.5(3.16)

DMT-06 | 128(5.03) | 99(3.89) | 78(3.07) | 258(10.1) | 72(2.83) | 56(2.20) | 69(2.71) | 130(5.11) | 78(3.07) | 19.8(0.77) | 64.8(2.55) | 94.43.71) | 97(3.81)
DMT-10 | 163(6.41) | 121(4.76) | 98(3.85) | 335(13.1) | 94(3.70) | 70(2.75) | 88.5(3.48) | 171(6.73) | 99(3.89) | 22.7(0.89) | 79(3.11) | 126(4.96) |132.3(5.20)

UNIT: M.M.(INCHES)

UNIT: M.M.(INCHES)
PAGE 43



U
ar

DIRECTIONAL CONTROLS
INLINE CHECK VALVES

[Ccv, CIT]

soLTecH
**MODEL NUMBER DESIGNATION
cIT 03 05 (90)
SERIES NO. CRACKING PRESSURE DESIGN NO.
CV: 21 MPa(3000 PSI) | VALVE SIZE 05, 0.0al5) OMIT: TAIWAN STD. (ReT)
CIT: 35(5075 PS) S 90: NORTH AMERICA STD.(NPT)

*GRAPHIC SYMBOL c
CV, CIT
\
N ZNN \g&
A
*<DIMENSIONS A
, A"Lén ,,,, 7
C
B
. O-RING
*<*SPECIFICATION UNIT: M.M.(INCHES)
A Max. Flow Max. Oper. Pres. Weight
Model (Rc/PT) B c (€/min)/(U.S.GPM) (MPa)/(PSI) (kg)
CV-03 3/8" 70(2.76) 23(0.91) 40(10.6) 0.18
CV-04 1/2" 80(3.15) 29(1.14) 60(15.9) 0.31
CV-06 3/4" 90(3.54) 35(1.38) 100(26.4) 0.48
CV-08 1" 113(4.45) 46(1.81) 150(39.6) 21(3000) 1.07
CV-10 1-1/4" 133(5.24) 53(2.09) 200(52.8) 1.75
CV-12 1-1/2" 133(5.24) 65(2.56) 280(74.0) 2.60
CV-16 2" 154(6.06) 71(2.80) 400(105.7) 3.12
A B Max. Flow Max. Oper. Pres. Weight
wadel (Rc/PT) : c D E O-Ring (€/min)/(U.S.GPM) (MPa)/(PSI) (kg)
CIT-02 | 1/4" 75(2.95) 29(1.14) 27(1.06) 14(0.55) P-16 30(7.93) 0.30
CIT-03 | 3/8" 75(2.95) 32(1.26) 30(1.18) 14(0.55) P-16 40(10.57) 0.36
CIT-04 | 1/2" | 104(4.09) 35(1.38) 34(1.34) 25(0.98) P-20 60(15.86) 35(5075) 0.62
CIT-06 | 3/4" | 120(4.72) 41(1.61) 40(1.57) 27(1.06) G-30 100(37.83) 1.00
CIT-08 | 1" 139(5.47) 51(2.24) 56(2.20) 32(1.26) G-45 150(39.65) 2.20
3% PERFORMANCE CURVE
CIT-03 CIT-06
100F o7f —— 160 071 17-06-50
; ) —CIT-06- »
g sof- 06 |C|T-(|13-50| s gof- 06
[=) P4
2 601 o4 @ 60[~ 0.4
ﬁ 40 = 5 40
& 0.2 & 02 - ciT-06-05
2 0 ‘-|C|T'93'05|_ 22 0 T T 1 1 | 1 |
0 10 20 30 40 L/min 0 25 50 75 100 125 L/min
0 2I 4; 6I 8I 1‘0 U.Ss. GPM 0 I 1I0 I 2I0 I 3I0 U.s. GPM
Flow Rate Flow Rate

PAGE 44




L

soLTecH

*¢GRAPHIC SYMBOL

CE
|

?

A

DIRECTIONAL CONTROLS

/

"

Cc

INLINE CHECK VALVES

[cE]

PN

E D
B
** MODEL NUMBER DESIGNATION UNIT: M.M.(INCHES)
CE 03 05
VALVE SIZE CRACKITASa(F:E)ESSURE
04: 1/2 50: 0.5(70)
*<SPECIFICATION
A Max. Flow Max. Pres. Weight
Model (Rc/PT) B c D E (e/min)/(U.S.GPM) MPa(Psi) (Kg
CE-03 3/8" 66(2.60) 23(0.91) 53(2.09) 13(0.51) 40(10.6) 21(3045) 0.14
CE-04 1/2" 70(2.76) | 29(1.14) | 55(2.17) | 15(0.59) 60(15.9) 0.24
(o]
o90° TYPE [CKL]
#*GRAPHIC SYMBOL c
CKL i
» | . (N
Q . A
< P .r"J |
—_ o
T
NI I/
B
3% SPECIFICATION UNIT: M.M.(INCHES)
A B Max. Flow Max. Pres. |Cracking Pres. Weight
Model (Re/PT) (PS) c D E (e/min)/(U.S.GPM) MPa(Psi) MPa(gsi) (Kgg)
CKL-03 | 3/8" 38" | 72(2.83) | 46(1.81) | 26(1.02) 40(10.6) 0.22
CKL-04 | 1/2" 1/2" | 73(2.87) | 53(2.09) | 32(1.26) 60(15.9) 21(3045) 0.05(6) 0.32
CKL-04A | 3/8" 1/2" 73(2.87) | 53(2.09) | 32(1.26) 60(15.9) 0.32
WITH STOP VAVLE [CKLG])
C
T D T
e Rl
) i~
s \1 | (| .,M:’\ i
i X
|
B [ Not includes Gauge |
| |
3% SPECIFICATION UNIT: M.M.(INCHES)
A B (o3 Max. Flow |Max. Pres.|Cracking Pres.| Weight
Model ®T) | PS) | (PT) D E F L (e/min)/(U.S.GPM)| MPa(Psi) MPa(gsi) (Kg)
CKLG-03 | 3/8" [ 3/8" | 1/4" | 46(1.81) | 26(1.02) | 23(0.91) | 90(3.54) 40(10.6) 0.32
CKLG-04 | 172" [ 172" | 1/4" | 53(2.09) | 32(1.26) | 23(0.91) | 92(3.62) 60(15.9) | 21(3045) 0.05(6) 0.48
CKLG-04A | 3/8" | 1/2" | 1/4" | 53(2.09) 32(1.26) 23(0.91) 92(3.62) 60(15.9) 0.48

PAGE 45




JL DIRECTIONAL CONTROLS
- INLINE PILOT OPERATED CHECK VALVES-ZERO LEAKAGE

soLTecH

[PCV]

% MODEL NUMBER DESIGNATION
PCV ZL 02 D (90)

S: Design No.
Single Pilot Operation | Omit: Rc/PT Thread
D: 80: PF Thread
Dual Pilot Operation 90: NPT Thread

Zero Leakage: Valve
Pressure Locking| Size
for 30 Days 1/4"

Series
No.

**GRAPHIC SYMBOL

PCV-*-D
g ol

*<¢SPECIFICATION

Max. Flow Max. Oper. Pres. : . Weight
i) (e/min)/(U.S.GPM) (MPa)/(PSI) oo (kg)
PCV-ZL-02 20(5.28) 25(3625) 2.17:1 1.0

%30 DAYS PRESSURE LOCKING DIAGRAM

Pressure Temperature
— 300 40 —~
& P
30 @
3 200 =
= e
2 100 0 2
o S
0 0o KB
*<DIMENSIONS 1 4 7 14 21 28 30
PCV-*-D Time(Days)
Dual Pilot Operation
321.0x0.2 Dept.x2
68.0
- B 39.0 ‘ 32.0(1.26) |
/4" PFx3
. V1 v L . £
&I g 2
- I |
- 107.0 .
- 143.0
031 .0x0.2 Dept;xZ
PCV-*-S A 68.0
Single Pilot Operation _ 39.0 |
!
/4" PFx3
— Las s
= VA1 V2 I ‘
3
w1 e Y
107.0
- 132.5 - UNIT: M.M.(INCHES)

PAGE 46



U
ar

DIRECTIONAL CONTROLS
RIGHT ANGLE CHECK VALVES-SUBPLATE TYPE

soLTeECH
[crRG-0O3, 06, 10-(150)])
*<SPECIFICATION
M . Weight
Model ax. Oper. Pres. | Max. Flow | Cracking Pres. (ka)
(MPa)/(PSI) (€/min)/(U.S.GPM) MPa/(PSI) cRG_ 1CRGISO
CRG-03-(ISO) 30(7.9) 0.05(7.25) 2 2.2
CRG-06-(1SO) 25(3630) 80(21.1) 0.3(43.5) 4 3.2
CRG-10-(ISO) 200(52.9) 0.5(72.5) 8 6.5
** GRAPHIC SYMBOL
CRG
\
**ACCESSORIES
Model .Socket Head Screw.Cap : O Ring
European Design Std. North America Design Std. —_
CRG-03-ISO M10 x 45 Lg. | 3/8-16 UNC x 1-3/4 Lg. |4|Pcs|P22A|2|Pcs
CRG-06-1SO M10 x 50 Lg. 3/8-16 UNC x 2 Lg. |4|Pcs| P29 |2|Pcs
CRG-10-1SO M10 x 55 Lg. |3/8-16 UNC x 2-1/4 Lg. |6|Pcs| P36 |2|Pcs
CRG-03 M10 x 60 Lg. - Pcs|P22A|2|Pcs
CRG-06 M16 x 55 Lg. -—- Pcs| P29 |2|Pcs
CRG-10 M20 x 70 Lg. -—- Pcs| P36 |2|Pcs
** MODEL NUMBER DESIGNATION
CR G 03 05 ISO (90)
PORT SIZE
03: 3/8", ISO CRACKING PRESSURE DESIGN NO.
SERIES CONNECTION TYPE | 5781-AG-06-2-A MPa(psi) MOUNTING INTERFACE OMIT:
NO G: SUBPLATE TYPE 06: 3/4", 1ISO 05: 0.05(6) OMIT: NONE 1SO STD. DIN 91920I_30LTS
* | T: THREADED TYPE | 5781-AH-08-2-A 30: 0.3(50) ISO: ISO STANDARD UNC BOLTS
10: 1-1/4",1SO 50: 0.5(70) (NORTH AMERICA)
5781-AJ-10-2-A
*<DIMENSIONS
CRG SERIES
/—In Port
B /R K 6

L
=

26

NN
L
@ \—Out Port N

@Q Depth 1

-

UNIT: M.M.(INCHES)

Model No.| A B © D E F G H J K L N P Q R

CRG-03 | 68(2.68) |47.6(1.87)|23.8(0.94)|47.6(1.87)[30.1(1.19)[12.7(0.50)| 80(3.15) [60.3(2.37)| 10(0.39) | 70(2.76) | 36(1.42) | 46(1.81) | 11(0.43) [17.5(0.69)[ 10.2(0.40)
CRG-06 | 101(3.98) [65.2(2.57)| 32.6(1.28)| 68.2(2.69)|40.5(1.59) | 22.2(0.87) | 114(4.49) [80.9(3.19)[ 16.5(0.65)| 81(3.19) | 38(1.50) | 54(2.13) [17.5(0.69)| 26(1.02) | 16.45(0.65)
CRG-10 | 130(5.11) [65.2(2.57)[32.6(1.28) | 68.2(2.69)|40.5(1.59)| 20.6(0.81)| 130(5.11) [92.1(3.63)| 19(0.75) | 100(3.94) | 50(1.97) | 67(2.63) |21.5(0.85)| 30(1.18) [18.95(0.75)

PAGE 47



i | DIRECTIONAL CONTROLS
1 RIGHT ANGLE CHECK VALVES-SUBPLATE TYPE

soLTecH

DIMENSIONS

CRG-ISO

In Port QOut Port G 6

Pin @6

[
4-@11 Hole

4-@17.5x1L Deep

MODEL A B C D E F G H
CRG-03-1SO | 90(3.54) | 66.7(2.62) | 11.7(0.46) | 72(2.83) | 42.9(1.69) | 17.5(0.69) | 72.5(2.85) | 31(1.22)
CRG-06-1SO | 102(4.01) | 79.4(3.12) | 11.3(0.44) | 93(3.66) | 60.3(2.37) | 21.4(0.84) | 84(3.31) | 36(1.42)

UNIT: M.M.(INCHES)

DIMENSIONS

CRG-10-I1SO

Out Port 97 118

In Port
© e —
—_— Il
[E—
4
) =
o= e
N - — -] Pin 96
- q;ﬁ
g o
< i
| —
s
11.6 96.8 |
120 6-211 Hole

6-J17.5x1L Deep

UNIT: M.M.(INCHES)

PAGE 48



i | DIRECTIONAL CONTROLS
- PILOT CONTROLLED CHECK VALVES

soLTecH

[cPDG, CPDT, CPDF]

3 SPECIFICATION
Model Max. Oper. Pres.| Max. Flow [Cracking Pres. W?ki%ht

(MPa)/(PS1) (e/min)/(U.S.GPM) (MPa)/(PSI) CPDG cpgn'r CPDF

CPD»-03 50(13.2) 5 3 | —

CPD-06 125(33) 0.05(7.25) 65|58 | -

CPD-10 25(3630) 315(83.2) 0.5(72.5) 12 [11.4]|11.4

CPD-16 500(132) - | - | 30

*¢GRAPHIC SYMBOL

INTERNAL | EXTERNAL CPDG-03

DRAIN TYPE | DRAIN TYPE

P H L

*<ACCESSORIES
Model Socket Head Screw Cap O Ring
European Design Std. North America Design Std. (Flange)
CPDG-03 M10 x 45 Lg. |3/8-16 UNC x 1-3/4 Lg. [4|Pcs| P9 |2|Pcs| P18 | 2 |Pcs
CPDG-06 M10 x 50 Lg. 3/8-16 UNC x 2 Lg. |4|Pcs| P9 |2|Pcs| P25 | 2 [Pcs
CPDG-10 M10 x 55Lg. |3/8-16 UNC x 2-1/4 Lg. [6|Pcs| P9 [2|Pcs| P38 | 2 |Pcs
CPDF-16 M16 x 50 Lg. - 8|Pcs| (2") |2[Pcs| G65 | 2 |Pcs
*<MODEL NUMBER DESIGNATION
CPD e 03 (E) 05 (90)
CONNECTION PORT SIZE
SERIES NO. TYP 03: 3/8", ISO
CP: G: 5781-AG-06-2-A OMIT: SIRACING | DIEBN NG,
PILOT CONTROLLED CHECK VALVE| SUBPLATE TYPE 06: 3/4", 1SO INTERNAL DRAIN PR“'AEPEZQ":)RE DIN 912 BOLTS
CPD: T: 5781-AH-08-2-A E: 05: 0 (’))5(6) 90:
DECOMPRESSION TYPE PILOT |THREADED TYPE 10: 1-1/4", 1ISO EXTERNAL DRAIN . UNC BOLTS
. 50: 0.5(70) | (NORTHAMERICA)
CONTROLLED CHECK VALVE F: 5781-AJ-10-2-A
FLANGE TYPE 16: 2"
*PERFORMANCE CURVE
CPDG-03 CPDG-06 CPDG-10
PSI  MPa PSI MPa | | | | PSI MPa | | |
o 140 10 } } 200[ 14 | cPocosso 3001 2.0 T \ CPDG-105
8 120 — CPDIG'(JS'SOI L 8 12 1 1 g 250  CPDG-10-50
%100 o @ 150 — Y % oo 16 \/
% 80 — | 2 100 08 —— 3 150 12 —
2 601 0. o — S . =
s 04 cPocess & [oa  pPoc-06-5 & 100 **_TH )/_T, -
o [ —— ——— Rowes N
" 20 40 60 Lmin 0 0 50 100 150 200 L/min 0 100 200 300 400 L/min
I N I I A I | N I N N N SN TN (N N | T N TN SN TR N R N N
5 10 15U.S. GPM 0 10 20 30 40 50 U.S.GPM 0 20 40 60 80 100 U.S.GPM
Flow Rate Flow Rate Flow Rate
v up  CPDT-03 | i u  CPDT-08 - CPDT-10
8‘122 12 CP:DT-OS-SO: /r %ggg 18 “CPDT-06-50, ~\ L %250 18 G N
= I ) I a 1.2 N & 200F 18 \
% 100 08 /r % 150 | % 150}~ 2 CPDT-105
8 — — CPDT-03-5 £ 100 0.8 — T CpoToes g 00 0.9 — »
o . — [N o X =
sof 04 — _ 4{5 ‘[u”m 5 04— =T - Zz - f _ _—R;E’m
, o — "."' . ) ) ont rla led Flow . A——F-1"" Controlled Flow o 1" Controlled Flow
0 20 40 60 L/min 0 50 100 150 200 L/min 0 100 200 300 400 L/min
T S T E— T T oo 233650 u.s.GPM 0 : 2(|) |4(; : 6(I) Iat; I102) U.S. GPM
Flow Rate Flow Rate Flow Rate

PAGE 49



i | DIRECTIONAL CONTROLS
- PILOT CONTROLLED CHECK VALVES

soLTecH

DIMENSIONS

CPDG-03, 06

FREE FLOW OUT PORT OR
CONTROL FLOW IN PORT PILOT PORT 6
4- 211
@17.5 DEPTH 1
EXTERNAL DRAIN PORT
e @6
w
FREE FLOW IN PORT
OR CONTROL FLOW OUT PORT
MODEL A B C D E F G H
CPDG-03 87.5(3.44) | 44.5(1.75) | 10(.39) | 144(5.67) | 50.6(1.99) | 68(2.68) | 60(2.36) | 35(1.38)
CPDG-06 102(4.02) | 51(2.01) | 11.3(.044) | 174(6.85) | 57(2.24) | 80(3.14) | 70.5(2.78) | 40(1.57)
UNIT: M.M.(INCHES)

CPDG-10

FREE FLOW OUT PORT OR
CONTROL FLOW IN PORT

EXTERNAL DRAIN PORT

6-011
@17.5 DEPTH 1

FREE FLOW IN PORT
OR CONTROL FLOW OUT PORT

PILOT PORT

UNIT: M.M.(INCHES)

PAGE 50



i | DIRECTIONAL CONTROLS
- PILOT CONTROLLED CHECK VALVES

soLTecH

DIMENSIONS

CPDT-SERIES

Free Flow Out Port or
Control Flow in Port PT "K"

Control Flow
in Port or
Free Flow Out
Port PT "K"

External Drain Port —r ol A :) S
PT 1/4" N |

Pilot Port

CRTa |

MODEL A B C D E F G H J K

CPDT-03 80(3.15) 40(1.57) [150.5(5.93)| 75(2.95) 21(0.82) 64(2.52) | 35.5(1.40) | 58(2.28) 41(1.61) 3/8"

CPDT-06 99.6(3.92) | 49.8(1.96) | 174(6.85) | 84(3.31) 26(1.02) 73(2.87) 38(1.50) 68(2.68) 65(2.56) 3/4"

CPDT-10 140(5.51) | 70(2.76) | 208(8.19) | 104(4.09) | 35(1.38) 92(3.62) 45(1.77) 84(3.31) 79(3.11) 1-1/4" UNIT: MM(|NCHES)
DIMENSIONS

CPDF-16

PILOT PORT
PT-1/4
(Rc)
a fa
FREE FLOW < hd | FREE FLOW
UTLE 0 INLET OR
n
RoVERSED. L © REVERSED
CoNTROLL CONTROLLED
gfg\};Rn?ﬂIéED Y = T FLOW QUTLET
i~ 1
PORT. _ NS L T P PORT.
5o ShE | < T ﬁ
s§ 8 14 - b es
= 88
0.6
R
pIE 32
2 | (1.26)
84.5
(3.33) 169 (6.65)
25(10:49) (2.48) 126 (4.96)

UNIT: M.M.(INCHES)

PAGE 51



U
ar

soLTecH

** MODEL NUMBER DESIGNATION

DIRECTIONAL CONTROLS
PREFILL VALVES

[sG-16, 24, 32]

SG 24 R (90)
VALVE SIZE [ MOUNTING ANGLE DE%,\GA’#T.NO'
16: 2" NONE: 180° DIN 912 BOLTS
SERIESNO.|  oqn gn R: ANGLE(90°) 90:
32: 4" L: MOUNTING 270° UNC BOLTS
(NORTH AMERICA)
*¢GRAPHIC SYMBOL
SG
T | ‘PP
o
*¢SPECIFICATION
Model |Max. Oper. Pres. Rated. Flow Oper. Pres. Cracking Pres.| Weight
(MPa)/(PSI) (e/min)/(U.S.GPM) (MPa)/(PS1) (MPa)/(PSI) (kg)
SG-16 260(6.9) 400(105.7) 260+100m(6.9+26.4) 400+100m(105.7+26.4) 0.12 30
SG-24 600(158.5) | 900(237.8) | 600+150m(158.5+39.6) | 900+150m(237.8+39.6) 0.14 54
SG-32 25(3630) 100
SG32.R 1100(290.6) | 1600(422.7) | 1100+£300m(290.6+79.2) | 1600+300m(422.7+79.2) 0.16 108
3% ACCESSORIES
Model _Socket Head Screw.Cap : Flange O Ring
European Design Std. North America Design Std.
SG-16 M16 x 50 Lg. | 10-24 UNC x 1-3/4 Lg. [8|Pcs| 2" |2 |Pcs| G65 |2|Pcs
M16 x 60 Lg. 4|Pcs| 2-1/2" Pcs Pcs
SG-24 M20 x 60 Lg. 4(Pcs| 3" Pcs G852 Pcs
M16 x 50 Lg. 6|Pcs| 3-1/2" Pcs G120l2 Pcs
SG-32 M20 x 60 Lg. 8|Pcs| 4" Pcs Pcs
M10 x 35 Lg. 4|Pcs| 3/4" Pcs| G30 |1|Pcs

*<DIMENSIONS

SG-16

PAGE 52

TANK PORT

54(2.13)

PT 3/8" PILOT PORT

188(7.4)

134(5.28)

71(2.8)
123(4.84

142(5.59)

246(9.69)

E PRESSURE PORT

125(4.92)

P

62(2.44)

315.21(12.41)




PREFILL VALVES

DIRECTIONAL CONTROLS

=|J||'E®

soLTecH

DIMENSIONS

SG-24

147(5.79)
285(11.22

UNIT: M.M.(INCHES)

DIMENSIONS

SG-24-R

.

3)

138(5.4:

DIMENSIONS

SG-24-L

)

SG-24-L

UNIT: M.M.(INCHES)

PAGE 53



—J|'= DIRECTIONAL CONTROLS
L

PREFILL VALVES
SOLTECH

DIMENSIONS

S G - 3 2 FLANG 3/4" PILOT PORT
NS PRESSURE PORT ii

.

178(7.0) / TANK PORT
e > =
N
S
4
D B\
AN Z —
3
o
3 | g
t 0
g QJ
122(4.8)
352(13.86)

UNIT: M.M.(INCHES)

DIMENSIONS

FLANG 3/4" PILOT PORT

Pr
f:llh/ PRESSURE PORT TANK PORT
E__ 1—rrm| 4 .

J e K
= 7 ! 2
® ®, 3
o LEAARY M@// —E ’

123(4.84) 122(4.8)

283(11.14) 296(11.65)
UNIT: M.M.(INCHES)

DIMENSIONS

PRESSURE PORT

SG-32-L

FLANG 3/4" PILOT PORT

TANK PORT

541(12.3)
169(6.65)
TTT11 M1 |
®
&

W:@X \h

2 © .
2 3
-~ o
| <3

2 3

183(7.2)
283(11.14)
296(11.65)

UNIT: M.M.(INCHES)

PAGE 54



JL DIRECTIONAL CONTROLS

j |- PREFILL VALVES

soLTecH

[PF/PDF/PRF/PHF)

**MODEL NUMBER DESIGNATION

PF 80 FT (90)
SERIES NO. VALVE SIZE DESIGN NO.
PF: NORMAL TYPE ineT FLANGE KITS OMIT:
PRF: RETANGLE FLANGE 90: 3-1/2" FPT: WITH P,T PORT FLANGE DIN 912 BOLTS
PDF: DECOMPRESSION o FP: WITH P PORT FLANGE 90:
TYPE T FT: WITH T PORT FLANGE UNC BOLTS
PHF: HIGH FLOW RATE TYPE e (NORTH AMERICA)
< SPECIFICATION
Max. Flow Cracking Pres. | Pilot Pressure
Max. Oper. Pres. (€/min)/(U.S.GPM) (MPa)/(PS) (MPa)(PS) | Weight
Model (MPa)(PSl) PF/PDF PHF PFIPHF PDF ONLY ko)
Normal Type | High Flow Rate
P(*)F-50 250(66.0) | 400(105.7) | 0.012(17) 4.76(689.7) | 3.4
P(*)F-80 400(105.7) |600(158.5) | 0.012(17) 4.15(601.5) | 87
P(*)F-90 s5ae30)  |82U1717)[900(2378) | 0.012(17) 311(486.2) | 145
P(*)F-100 1000(264.2)[1400(369.9)|  0.012(17) 3.87(561.0) | 165
P(*)F-125 1600(422.7)|2100(554.8)|  0.012(17) 3.27(4735) | 271
P(*)F-150 2500(660.5)[3000(792.5) 0.012(17) 2.89(419.5) 39.6
#*<ACCESSORIES
Socket Head Screw Cap % GRAPHIC SYMBOL
Model FP Flange Mounting R FT Flange Mounting ——
PF/PHF PDF Qty eight (k) o o /PDF qry | Weioht (ka) P(*)F
P(*)F-50 | M16 x 45 Lg. | M16 x 45 Lg. | 4 |PCs| — | M10x35Lg. |4 |Pcs| — 7| PP
P(*JF-80 | M16 x 55 Lg. | M16 x 55 Lg. | 6 |PCs| 6.5 | M12x40Lg. |6 |Pcs| 2.3 =
P(*)F-90 | M18 x 65 Lg. | M18 x 60 Lg. | 6 |Pcs| 9 M12 x40 Lg. |6 |Pcs| 2.8
P(*)F-100 | M20 x 70 Lg. | M20 x 65 Lg. | 6 | Pcs 14.5 M12 x 40 Lg. | 6 [Pcs 2.8
P(*)F-125| M20 x 80 Lg. | M20 x 75 Lg. |12|Pcs| 25.2 M12 x 50 Lg. | 6 |Pcs 4 CL‘
P(*)F-150 | M20 x 95 Lg. | M20 x 90 Lg. |16| Pcs| 28 | M16 x50 Lg. |8 |Pcs| 8
*PERFORMACE CURVES
The characteristic curve chart of Flow vs. Pressure
PDF-50 PDF-80 PDF-90
485 423 34.19
250 250 250
200 200 200
150 150 150
100 100 100
50 50 50
/ﬁ 2.3 2.3
0 10 20 30 0 0 10 20 30 40 0 10 20 30 0
Min. Pilot Pressure Kgf/cm? Min. Pilot Pressure Kgf/cm? Min. Pilot Pressure Kgf/cm?
PDF-100 PDF-125 PDF-150
250 39.45 250 33.3 250 295
200 200 200
150 150 150
100 100 100
50 50 50
763 17 1.72
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
Min. Pilot Pressure Kgf/cm® Min. Pilot Pressure Kgf/cm® Min. Pilot Pressure Kgf/cm®

PAGE 55



U
ar

soLTecH

DIRECTIONAL CONTROLS
PREFILL VALVES

**ASSEMBLY **PF/PRF DIFFERENCE EXPLANATION

You can install the valve
without removing the flange

Remove the Flange
before installing the valve

.
*<DIMENSIONS
Tank-T
oA PF-50
PILOT
2B (PCD) PRESSURE
oC PORT
T oD
oE Q PF-80~100
PILOT
5 PRESSURE
PORT
1
!
s ‘ PF-125
‘ LY PILOT Item No. Part Name [Q'ty|| ltem No. Part Name Q'ty
|
_ | T G PRESSURE 1 Body 1 PF-90  |JIS B 2401-1B-G105| 1
p[ i‘i P F 2 Push rod 1|, [PF-100_[u1s B 2401-1B-G120] 1
P SV N 3 Spring retainer | 1 PF-125 |JIS B 2401-1B-G145| 1
AN -
~ - ! N PF-150 4 Spring (L) 1 PF-150 |JIS B 2401-1B-G170| 1
) PILOT 5 Spring ring 1 12 Flange 1
- PRESSURE (g :
€ PORT 6 Spring (R) 1 PF-50 M10 x 35L 4
s 20 R 7 Piston 1 PF-80 M12 x 40L 6
5 8 Piston seat 1 PF-90 M12 x 40L 6
H oN 13
8 9 PT 1/16 1 PF-100 M12 x 40L 6
= _eM (PCD) | PF-50 M4 x 501 4 PF-125 M12 x 451 6
= oL
T CyinderP UNIT: MM('NCHES) PF-80 M5 x 65L 4 PF-150 M12 x 45L 8
10| PF-90 M5 x 80L. 4 PF-50 | JIS B 2401-1B-G60 | 1
MODEL| A B c D E F G H | J K PF-100 M5 x 90L 8 PF-H-50 | JIS B 2401-1B-G75 | 1
PF-50 [1184.63)| — |615242) | 51(2.00) | 31(1.22) [101(3.97)| 48(1.88) |35(1.37) [ 18(0.71)| 8(0.31) | 15(0.59) PF-125 M6 x 110L 8 i |l e U e ]
PF-150 M8 x 140L 8 PF-H-80 [JIS B 2401-1B-G105| 1
PF-80 |142(5.58)|1204.71)| 90(3.53) | 71.5(2.81) | 44(1.73) |134(5.26)| 66(2.59) |45(1.77)|22(0.86)| 11.5(0.45)| 22.5(0.88) or50 1358 220118660 o0 TaisB2aomiesionl
PF-90 |160(6.28)|135(5.30)| 102(4.01) | 89(3.50) | 50(1.96) |147(5.77)| 74(2.91) | 50(1.96) |30(1.18)| 13(0.51) |27.5(1.08) " ors0 [0is B 2201-1B.Ge5 | 1 PFH-00 1S B 24011801151 1
PF-100 [170(6.68) | 148(5.81)| 115(4.52) | 108(4.24) | 56(2.20) |159(6.24)| 76(2.98) | 60(2.36) | 32(1.26)| 18(0.71) |27.5(1.08) 45100 1S B 2401-18G115| 1
PF-125 | 200(7.85)| 175(6.87) | 141.2(5.54) | 130.5(5.12)| 69(2.71) | 196(7.70)| 85(3.34) | 80(3.14) [ 50(1.96) [23.5(0.92)| 43(1.69) PF-H-100 | JIS B 2401-1B-G150| 1
PF-150 | 225(8.84)| 200(7.85)| 167(6.56) | 155(6.09) |95.5(3.75)| 216(8.48) | 105(4.12) | 80(3.14) [40(1.57) | 25(0.98) |44.5(1.75) PF-125 | JIS B 2401-1B-P140| 1
N ° R PF-H-125 | JIS B 2401-1B-G185| 1
MODEL L M = == = = P Q = == S T u PF-150 [JIS B 2401-1B-G180| 1
PF-H-150 | JIS B 2401-1B-G215| 1
PF-50 | 133(5.22) 61.5(2.42) | 77.5(3.04) | 48(1.88) | 67(2.63) |22.5(0.88)| G-60-90 | G-60-90 | G-75-00 | 73.5(2.89) |4-M10x35 |PT 1/4
PF-80 | 180(7.07) | 146(5.73) | 90(3.53) |108.5(4.26)| 71(2.79) | 90(3.53) | 30(1.18) | G-85-90 | G-80-90 | G-105-90 | 95.5(3.75) | 6-M12x40 | PT 1/4
PF-90 | 200(7.85) | 165(6.48) | 102(4.01) | 119(4.67) | 88(3.46) | 106(4.16) | 39(1.53) | G-105-90 | G-100-90 | G-115-90 | 120.5(4.73) | 6-M12x40 | PT 1/4
PF-100 | 230(9.03) | 191(7.50) | 115(4.52) | 142(5.58) [106(4.16) | 135(5.30) | 41(1.61) [ G-120-90 | G-115-90 | G-150-90 | 134(5.26) |6-M12x40 [PT 1/4
PF-125 | 265(10.41) | 230(9.03) | 141.2(5.54) | 180.7(7.10) | 130(5.11) | 170(6.68) | 51(2.00) | G-145-90 | P-140-90 | G-185-00 | 164(6.44) |6-M12x50 |PT 1/4
PF-150 | 300(11.78) | 260(10.21) | 167(6.56) | 207(8.13) | 168(6.60) | 195(7.66) | 64(2.51) | G-170-90| G-180-90 | G-215-90 | 201(7.89) |8-M12x50 |PT 3/8

PAGE 56




